DRILL DOWN EXHIBI

INSTRUCTION MANUAL

Ravenswood Studio, Inc.
847-679-2800
ravenswoodstudio.com
1-26-2018




TABLE OF CONTENTS

Crate List 3
Tools Required 4
Assembly Tips 5
Electrical Plan 6
Tension Fabric Structures 8
Inflatable Ship 10
Geological Map Floor 14
PIE Media Wall 17
Deep Sea Fossils Kiosk 19
Drilling the Deep Kiosk 27
What is a core? Kiosk 36
Deep Dark Life Kiosk 42
Quakes & Waves Kiosk 49
Stories from the Core Kiosk 56
As Built Construction Drawings Appendix A

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



CRATE LIST

Consortium of Ocean Leadership

Drill Down Exhibit
Crate Schedule

1375

Ibs/sqft. 1/2" Sintra

1/26/2018
TOTAL (Ibs)
4319.6
Crate Num Type EXT L" EXT W" EXT H" Crate Weight (lbs) | Weight (Ibs) | Total Weight (Ibs) |Contents
1 Crate 27 47 31.375 120.3 570.0 690.3 Flooring Tiles
Gaylord Box 36 36 48 192.8 30.0 222.8 (4) Stanchions
2 Crate 53.25 53.25 25.75 226.4 570.0 796.4 6 base plates, 6 side plates,
Crate 33 61 27.375 155.0 35.0 190.0 4 overview - Tsunami, Drill, Micro, Core
4 Crate 36 72 19 160.7 50.0 210.7 2 interactives - Micro, Core
Crate 25.5 88.5 21.75 136.6 85.0 221.6 Interactive - JR Drill Down
6 Crate 28.5 58.5 29.75 136.5 50.0 186.5 Interactive - Tsunami Tank and Shelf
Crate 53 59 16.375 197.3 75.0 272.3 Interactive - Sea Floor Plinko
Road box 15 69 44 95.6 125.0 220.6 Storeis Kiosk: touch screen, bezel
Road box 30 22 26 90.1 35.0 125.1 Stories Kiosk: CPU
Road box 27 41 74 207.1 100.0 307.1 Peerless: Small monitors, speakers, a/v rack
Road box 22 59 43 129.5 75.0 204.5 Peerless: Large Monitors (3)
Pallet 72 72 36 191.3 800.0 991.3 Inflatable Ship
Soft Wrap 36 172 78 0.0 50.0 50.0 PIE Media Wall (Peerless AV Rack)
Crate 18 18 39.5 70.9 15.0 85.9 IR is a Stem Marvel, 3D printed Drill Bit
Soft Bag 101 18 18 0.0 35.0 35.0 [Tectonics Frames
Soft Bag 101 18 18 0.0 35.0 35.0 [Tectonics Frames
Soft Bag 101 18 18 0.0 15.0 15.0 3D Puzzle Foam
Generator 25 28 22.5 0.0 50.0 50.0 Generator
Generator 25 28 22.5 0.0 50.0 50.0 Generator
Soft Wrap 22 22 71 0.0 25.0 25.0 Freestanding Graphics Panels
Soft Wrap 22 22 71 0.0 25.0 25.0 Freestanding Graphics Panels

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL




TOOLS REQUIRED

Tool List

» Standard Allen Set (must include 7/32”, 3/16")

* Phillips Screw drivers (small and medium)

» Standard Socket Set %” Drive (must include 7/16”, 9/16")

* %" Drive Ratchet

* Box-end Standard Wrench Set (Must include 7/16”, 9/16”)

» 3/8”-16Tap

* 1/4-20Tap

* Tap handle

* Small (Light duty) Electric drill or screw-driver (do not buy a high-torque screw gun or
impact, must be very small duty or hobby) with %” Drive or adjustable chuck

* Claw Hammer

* Wonder Bar

* %" Drive Chuck Adapter to %” Socket Drive

* %" Drive Chuck Adapter to 3/8” Socket Drive (if needed)

* 6’ Ladder

* (2) 5 Gal bucket

* Consumables (only purchase as needed)

* Visqueen (for the map floor underlayment)

* 1” insulation Foam

* 2" insulation foam

* 8" ZipTies

* Cleaning Supplies (mild soap, acrylic cleaner)
* Microfiber cloths

* Shoe Covers

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



ASSEMBLY TIPS

* All bolts should be started by hand first. Never use a power tool to start threading bolts

* All bolts and screws should have smooth thread engagement until the head of the bolt or
screw contacts the primary surface. Therefore, if you feel any difficulty, binding, or

unusual thread engagement, stop turning immediately and remove the screw or bolt to
re-engage the threads.

* Never slide interactives or other components against the painted surfaces of baseplates.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



ELECTRICAL CONNECTIONS

Generator

Generator

3 Plug Splitter . .
g°p Twist Lock Splitter Twist Lock Splitter

Heavy Duty 100’ Cord Heavy Duty 100’ Cord

v L 2

Blowers Blowers

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

=




ELECTRICAL CONNECTIONS



TENSION FABRIC FRAME ASSEMBLY




TENSION FABRIC FRAME ASSEMBLY




INFLATABLE SHIP INSTRUCTIONS

Inflation

1. To inflate the boat, position the
pallet at the front (bow) of the
planned location for the boat.

2. Remove the straps holding the
folded boat to the pallet. Roll boat
off pallet.

3. Remove the pallet.
4. Unfold the boat.

5. Adjust alignment of the boat to
ensure proper positioning

6. Connect the four blower fans to
black inlet ducks located near the
base of the boat. Ensure the Velcro
straps create a good seal.

7. Turn on the fans. Ship will inflate.
Keep the fans ON to maintain
inflation.

8. Using the provided straps as guy-
lines, attach water-barrel or
alternative ballast. Manufacturer
recommends 1000 lbs per corner (x
4)

9. Install interior graphics by clipping to
provided rings.

10. You may now wheel the PIE Media
wall into position.

11. Use the provided black tarp to mask
light in the media wall opening (near
base of ship wall).

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



INFLATABLE SHIP INSTRUCTIONS

Deflation

1. Remove the PIE Media wall from inside the ship.

2. If needed, remove the interior graphics.

3. Clean the ship as needed using water. If required, use a mild dish soap and rinse well.
Allow to fully dry before folding.

4. Disconnect any guy-lines or ballast and remove from area.

5. Turn off the fans and disconnect from inlet tubes.

6. Allow the ship to deflate. If needed, remove shoes and walk on the ship to speed
deflation.

7. Fold the ship according to the folding diagrams

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

11




INFLATABLE SHIP FOLDING

& Using the D-
rings, fold the

I
I
p. | ship along the
dotted lines
| —
| shown.

Continue folding
as shown.

n
>

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

E palet

Cover

Ship

12



INFLATABLE SHIP FOLDING

Roll the ship
into the black

cover. Fold as
\I When fully enclosed in black

shown.
cover, tighten the provided straps.
Then roll the entire ball onto the
pallet and strap with ratchet-
straps

Ravenswood Studio, Inc. 847-679-2800 13
Lincolnwood, IL



GEOLOGICAL MAP FLOOR

Installation

1. Determine position of flooring. Lay down plastic sheeting (if needed) to help the floor
expand/contract with temperature changes. Plastic sheeting can be visqueen or painters
drop.

2. Open the crate and remove all boxes.
3. Locate the box with the first Row (A).

4. Open box and begin placing tiles, Starting with (A-1) and continuing to snap together tiles
in alphanumerical order (A-1, A-2, A-3, A-4....)

5. When row is complete, begin with next row (B).
6. Repeat until floor is complete.

7. Disassembly is the inverse of Steps 1 — 4, starting with the last row and tile (I-18).

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

14



GEOLOGICAL MAP FLOOR

Cleaning Instructions
1) Use only water, mild-soap, and microfiber cloth as needed.

2) Do not use any harsh chemicals or abrasives.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

15




GEOLOGICAL MAP FLOOR



PIE MEDIA WALL

Installation

1. Open the road cases

2. Remove the monitors and place in the corresponding locations. Pay close attention to
the numbers on the back of the monitors.

3. Place the shelf on the back of the media wall in the corresponding location. Place the
AV box on the shelf — ensure the top of the box clips over the frame.

4. Arrange the wiring harness along the frame using the included Velcro to attach.

5. Connect the HDMI and power connections for each monitor.

6. Pluginthe power cord and adjust volume as needed.

559.4 mm

140.55 mm

281.1 mm

404.3 mm 404.3 mm

968.2 mm

CDE4302 1920X1080 CDE4302 1920X1080 CDE4302 1920X1080

SH37F 1920X540 SH3TF 1920X540 SH37F 1920X540

4575.5 mm

SCREENSIZE AND BEZEL TO SCALE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

17



PIE MEDIA WALL

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

18



DEEP SEA FOSSILS

1. Assemble the lower tension fabric frame
per assembly labels and guides provided in
this manual

2. Open all crates and prepare items for
assembly.

3. Place baseplate in position.

4. Lower tension fabric frame onto baseplate
and ensure holes align properly.

5. Install (5) bolts %-20 x 1” using a 7/16”
socket.

6. Stretch fabric over frame and secure using
Velcro at bottom. Ensure the bolt holes in
the frame align with the holes in the fabric.

7. Assemble the upper tension fabric
structure. Apply fabric and leave zipper
open.

8. Using a ladder and/or an assistant, place
the upper tension fabric structure on the
lower tension fabric structure. Fasten with
(7) flat-head bolts using 3/16” Alan key.
Bolts attach from top-to-bottom.

9. Close the zipper on the upper tension fabric
structure.

10. Install (11) Stand-off spacer barrels with the
internal Phillips screws.

11. With a helper, align the graphic panel with
tumbler Interactive. Be extra careful not to
twist the graphic panel. Use the included
support brackets to reinforce the lowest
standoffs directly behind the tumbler box.

12. With help from an assistant, lift the
graphics panel and install with (11) stand-
off caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

19



DEEP SEA FOSSILS

Stretch fabric over frame and secure using
Velcro at bottom. Ensure the bolt holes in
the frame align with the holes in the
fabric.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

20



DEEP SEA FOSSILS

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

Assemble the upper
tension fabric
structure. Apply
fabric and leave
Zipper open.

Using a ladder
and/or an assistant,
place the upper
tension fabric
structure on the
lower tension fabric
structure. Fasten
with (7) flat-head
bolts using 3/16”
Alan key. Bolts
attach from top-to-
bottom.

Close the zipper on
the upper tension
fabric structure.

21




DEEP SEA FOSSILS

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

22



DEEP SEA FOSSILS

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

Install (11) Stand-off
spacer barrels with
the internal Phillips
screws.

23



DEEP SEA FOSSILS

With a helper, align the graphic panel with
tumbler Interactive. Be extra careful not to twist
the graphic panel. Use the included support
brackets to reinforce the lowest standoffs
directly behind the tumbler box.

With help from an assistant, lift the graphics
panel and install with (11) stand-off caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

24



DEEP SEA FOSSILS

With a helper, align the graphic panel with tumbler Interactive. Be extra
careful not to twist the graphic panel. Use the included support brackets
to reinforce the lowest standoffs directly behind the tumbler box.

With help from an assistant, lift the graphics panel and install with (11)
stand-off caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

25



DEEP SEA FOSSILS

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

26



DRILLING THE DEEP

1. Assemble the lower tension fabric frame
per assembly labels and guides provided in
this manual

2. Open all crates and prepare items for
assembly.

Place baseplate in position.

4. Lower tension fabric frame onto baseplate
and ensure holes align properly.

5. Install (5) bolts %-20 x 1” using a 7/16”
socket.

6. Install interactive sub-frame supports with
(6) through-bolts using a Phillips and 7/16”
wrench.

7. Stretch fabric over frame and secure using
Velcro at bottom. Ensure the bolt holes in
the frame align with the holes in the fabric.

8. Assemble the upper tension fabric
structure. Apply fabric and leave zipper
open.

9. Using a ladder and/or an assistant, place
the upper tension fabric structure on the
lower tension fabric structure. Fasten with
(7) flat-head bolts using 3/16” Alan key.
Bolts attach from top-to-bottom.

10. Close the zipper on the upper tension fabric
structure.

11. Install (5) Stand-off spacer barrels with the
internal Phillips screws.

12. Remove the (20) 10-24 screws on the side
covers of the interactive for a better hand-
hold. Use an allen-key inside one of the
holes as a prying tool — Do not pry on the
edge of the panel.

13. With help from an assistant, lift interactive
panel into position and secure using (4)
3/8-16 x 1-1/2” bolts with plastic washers.

14. Reinstall the side covers.

15. With help from an assistant, lift the
graphics panel and install with (5) stand-off
caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

27



DRILLING THE DEEP

Install interactive sub-frame
supports with (6) through-bolts

using a Phillips and 7/16” wrench.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

28




DRILLING THE DEEP

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

Stretch fabric over frame
and secure using Velcro at
bottom. Ensure the bolt
holes in the frame align
with the holes in the
fabric.

Assemble the upper
tension fabric structure.
Apply fabric and leave
zipper open.

Using a ladder and/or an
assistant, place the upper
tension fabric structure
on the lower tension
fabric structure. Fasten
with (7) flat-head bolts
using 3/16” Alan key.
Bolts attach from top-to-
bottom.

Close the zipper on the
upper tension fabric
structure.

29




DRILLING THE DEEP

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

Remove the (20)
10-24 screws on
the side covers
of the interactive
for a better
hand-hold. Use
an allen-key
inside one of the
holes as a prying
tool — Do not pry
on the edge of
the panel.

30




DRILLING THE DEEP

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

With help from
an assistant, lift
interactive
panel into
position and
secure using (4)
3/8-16 x 1-1/2”
bolts with
plastic washers.

31



DRILLING THE DEEP

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

32



DRILLING THE DEEP



DRILLING THE DEEP

Reinstall the side covers.

With help from an
assistant, lift the
graphics panel and
install with (5) stand-off
caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

34



DRILLING THE DEEP

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

35



WHAT IS A CORE?

1. Assemble the lower tension fabric
frame per assembly labels and
guides provided in this manual

2. Open all crates and prepare items
for assembly.

3. Place baseplate in position.

4. Lower tension fabric frame onto
baseplate and ensure holes align

properly.

5. Install (5) bolts %-20 x 1” using a
7/16” socket.

6. Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the frame
align with the holes in the fabric.

7. Assemble the upper tension fabric
structure. Apply fabric and leave
zipper open.

8. Using a ladder and/or an assistant,
place the upper tension fabric
structure on the lower tension
fabric structure. Fasten with (7) flat-
head bolts using 3/16” Alan key.
Bolts attach from top-to-bottom.

9. Close the zipper on the upper
tension fabric structure.

with the internal Phillips screws.

11. With help from an assistant, lift
interactive panel into position and
secure using (6) stand-off caps.
Note the position of the interactive
tether.

12. Install graphics panel using (5)
stand-off caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

10. Install (11) Stand-off spacer barrels ‘_



WHAT IS A CORE?

Lower tension fabric frame onto
baseplate and ensure holes align

properly.

Install (5) bolts %-20 x 1” using a
7/16” socket.

Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the
frame align with the holes in the
fabric.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



WHAT IS A CORE?

Assemble the upper tension fabric
structure. Apply fabric and leave
Zipper open.

Using a ladder and/or an assistant,
place the upper tension fabric
structure on the lower tension
fabric structure. Fasten with (7)
flat-head bolts using 3/16” Alan
key. Bolts attach from top-to-
bottom.

Close the zipper on the upper
tension fabric structure.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

38



WHAT IS A CORE?

Install (11) Stand-off spacer
barrels with the internal Phillips
screws.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

39



WHAT IS A CORE?

1. With help from an assistant, lift
interactive panel into position and
secure using (6) stand-off caps. Note
the position of the interactive tether.

2. Install graphics panel using (5) stand-
off caps.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

40



WHAT IS A CORE?

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

41



DEEP DARK LIFE

10.

Assemble the tension fabric frame
per assembly labels and guides
provided in this manual

Open all crates and prepare items
for assembly.

Place baseplate in position.

Lower tension fabric frame onto
baseplate and ensure holes align

properly.

Install (6) bolts %-20 x 1” using a
7/16” socket.

Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the frame
align with the holes in the fabric.

Attach the side ‘wave’ supports
with the (16) bolts using 7/32” Alan
key. The bolts should have easy
thread engagement, if you feel
resistance, verify proper alignment.
Forcing the bolts will cause
irreparable damage to the Delrin
threads. HAND TIGHTEN ONLY.

With two to three people, lift the
ramp interactive and move into
place. Rest the interactive on the
attached post to maintain proper
height.

Install the (4) alan bolts securing
the sides of the interactive to the
side-supports.

Install the (2) alan bolts at the
bottom support post to the tension
fabric frame.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

42



DEEP DARK LIFE

Assemble the tension fabric frame per
assembly labels and guides provided in
this manual

Open all crates and prepare items for
assembly.

Place baseplate in position.

Lower tension fabric frame onto
baseplate and ensure holes align

properly.

Install (6) bolts %-20 x 1” using a 7/16”
socket.

Stretch fabric over frame and secure
using Velcro at bottom. Ensure the bolt
holes in the frame align with the holes
in the fabric.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

43




DEEP DARK LIFE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

44



DEEP DARK LIFE

Attach the side ‘wave’ supports
with the (16) bolts using 7/32”
Alan key. The bolts should have
easy thread engagement, if you
feel resistance, verify proper
alignment. Forcing the bolts will
cause irreparable damage to the
Delrin threads. HAND TIGHTEN
ONLY.

With two to three people, lift the
ramp interactive and move into
place. Rest the interactive on the
attached post to maintain proper
height.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

45




DEEP DARK LIFE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

With two to three people,
lift the ramp interactive and
move into place. Rest the
interactive on the attached
post to maintain proper
height.

Install the (4) alan bolts
securing the sides of the
interactive to the side-
supports.

Install the (2) alan bolts at
the bottom support post to
the tension fabric frame.

46




DEEP DARK LIFE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

47



DEEP DARK LIFE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

48



QUAKES & WAVES

1.

10.

11.

Assemble the tension fabric frame
per assembly labels and guides
provided in this manual

Open all crates and prepare items
for assembly.

Place baseplate in position.

Lower tension fabric frame onto
baseplate and ensure holes align

properly.

Install (6) bolts %-20 x 1” using a
7/16” socket or wrench.

Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the frame
align with the holes in the fabric.

Attach the side ‘wave’ supports
with the (16) bolts using 7/32” Alan
key. The bolts should have easy
thread engagement, if you feel
resistance, verify proper alignment.
Forcing the bolts will cause
irreparable damage to the Delrin
threads. HAND TIGHTEN ONLY.

With two to three people, lift the
Tsunami interactive and position in
place between the wave supports.

Install the (8) bolts securing the
sides of the interactive to the side-
supports. Use a 7/32” alan key and
9/16” wrench.

Use the key to open the lid on the
interactive. Fill with 9.5 gallons of
water (fill level just below the black
plastic ramp under the city).

To empty the interactive, use the
supplied siphon pump to extract the
water. Leave the lid removed and
allow interactive to fully dry.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

49



QUAKES & WAVES

Assemble the tension fabric frame
per assembly labels and guides
provided in this manual

Open all crates and prepare items
for assembly.

Place baseplate in position.

Lower tension fabric frame onto
baseplate and ensure holes align

properly.

Install (6) bolts %-20 x 1” using a
7/16” socket or wrench.

Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the frame
align with the holes in the fabric.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

50




QUAKES & WAVES

Attach the side ‘wave’
supports with the (16) bolts
using 7/32” Alan key. The
bolts should have easy
thread engagement, if you
feel resistance, verify proper
alignment. Forcing the bolts
will cause irreparable
damage to the Delrin
threads. HAND TIGHTEN
ONLY.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

51



QUAKES & WAVES

With two to three people, lift the Tsunami
interactive and position in place between the
wave supports.

Install the (8) bolts securing the sides of the
interactive to the side-supports. Use a 7/32” alan
key and 9/16” wrench.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

52



QUAKES & WAVES

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

53



QUAKES & WAVES

Use the key to open the lid on the interactive. Fill with 9.5 gallons of water (fill level
just below the black plastic ramp under the city).

To empty the interactive, use the supplied siphon pump to extract the water. Leave
the lid removed and allow interactive to fully dry.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

54



QUAKES & WAVES

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

55



STORIES FROM THE CORE

1. Assemble the tension fabric frame
per assembly labels and guides
provided in this manual

2. Open all crates and prepare items
for assembly.

3. Place baseplate in position.

4. Lower tension fabric frame onto
baseplate and ensure holes align

properly.

5. Install (6) bolts %-20 x 1” using a
7/16” socket.

6. Stretch fabric over frame and
secure using Velcro at bottom.
Ensure the bolt holes in the frame
align with the holes in the fabric.

7. Attach the side ‘wave’ supports
with the (16) bolts using 7/32” Alan
key. The bolts should have easy
thread engagement, if you feel
resistance, verify proper alignment.
Forcing the bolts will cause
irreparable damage to the Delrin
threads. HAND TIGHTEN ONLY.

8. Place the padded spacer block on
the baseplate. With two to three
people, lift the interactive and
move into place. Rest the
interactive on the padded spacer
block to maintain proper height.

9. Install the (4) alan bolts securing
the sides of the interactive to the
side-supports.

10. Remove the padded box spacer.

11. Route cables under fabric to inside
of tension fabric structure.

12. Connect cables per diagram,
connect (2) power cables to power,
turn on the computer.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL



STORIES FROM THE CORE

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

Assemble the tension fabric
frame per assembly labels
and guides provided in this
manual

Open all crates and prepare
items for assembly.

Place baseplate in position.

Lower tension fabric frame
onto baseplate and ensure
holes align properly.

Install (6) bolts %-20 x 1”
using a 7/16” socket.

Stretch fabric over frame
and secure using Velcro at
bottom. Ensure the bolt
holes in the frame align
with the holes in the fabric.

57



STORIES FROM THE CORE

Attach the side ‘wave’ supports
with the (16) bolts using 7/32”
Alan key. The bolts should have
easy thread engagement, if you
feel resistance, verify proper
alignment. Forcing the bolts will
cause irreparable damage to the
Delrin threads. HAND TIGHTEN
ONLY.

Ravenswood Studio, Inc. 847-679-2800

Lincolnwood, IL

58




STORIES FROM THE CORE

Spacer gdoes here

Place the padded spacer block on the baseplate. With two to three people, lift the
interactive and move into place. Rest the interactive on the padded spacer block to
maintain proper height.

Install the (4) alan bolts securing the sides of the interactive to the side-supports.

Remove the padded box spacer.

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

59



STORIES FROM THE CORE



STORIES FROM THE CORE



STORIES FROM THE CORE



STORIES FROM THE CORE

—



STORIES FROM THE CORE

O



APPENDIX A

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

65



APPENDIX A

Ravenswood Studio, Inc. 847-679-2800
Lincolnwood, IL

67



4X 1/2" ROUND OVER 2 Studeo, Inc.
LAMDAFLEX VINYL GRAPHIC WRAPPED AROUND 2 1/2" X 16 GA ALUMINUM TUBE - " _ 1%.. 6900 N. CENTRAL PARK AVE
RSI WILL BREAK EDGES LAMDAFLEX VINYL GRAPHIC ON TOP OF 1/2" PLATE ALUMINUM BASE WWW.RAVENSWOODS TUDIO.COM
A
o o CLIENT
| - o - CONSORTIUM FOR OCEAN
LEADERSHIP
1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005
P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG
18"
| |UCi
CREATIVE
6900 N. CENTRAL PARK AVE.
8" LINCOLNWOOD, IL 60712
3. [
! “16 : Z
|
‘ ’ O
|
= — i
|
/o2, JR STANCHION BUILD 1 i = =
FRONT 710.01 / ISOMETRIC VIEW SCALE: 3" = 1'-0" / O = !
sEhle
|
3/8" WHITE SINTRA Y j L] : O
— |
@1/4" #10-24 X 3/4 SS BINDING BOLTS * i Z
GRAPHIC G-EX1.10-01 IS DIRECT PRINT TO o Q O o O !
X FORMICA - NON-MAGNETIC WRITABLE SURFACE 1 \ \\ / A =2 | <
1w y ‘ 2 — !
8 Y SHIP IS 2X LAYERS 1/8" MDF | ' a d i
* LASER CUT AND ETCHED 1 f an I I—
8 | 2?" - - 7" —— 2?" — D > :
1 < U
5" S . 5 — 12" - O !
15n L BV W NN 8 4X @9/32" THRU HOLE O — |
o 16 : >, DETAIL B PAD BETWEEN CONTENT PANEL AND BRACKET WITH FELT 0 ! m
/< + @:::::i:i:::):& SCALE1'-O"=1'-O" :
e e = 4 !
N ! & s, CONTENT PANEL 3UILD 1 D
o ’\$ on V | @ FRONT VIEW SCALE: 1'-0" = 1'-0" I :
] J‘ % I il CONTENT PANEL GRAPHIC G-EX1.10-01 T S]Eﬁéﬁ%’@ﬁm o ISSUE
& ALUMINUM IS ATTACHED TO BRACKET
* TINSET caP } } W/ 4X @1/4" #10-24 X 3/4 SS BINDING BOLTS } } FORMICA - NON-MAGNETIC WRITIABLE SURFACE MARK | DATE | DESCRIPTION
| \ | | | ‘ & SMR | 08/23/17 | FOR REVIEW
| ‘ | | | Té SMR | 10/27/17 | APPROVED TO BUILD
| | | | o
} } } } 1/8" MDF LASER CUT AND ETCHED
| | | | NS
o | |
o | | SRS
| | | | e
| | | |
| | | | 3.
| | | | 416 : MANAGEMENT
45150 } | } } } PROJECTNO. 4831
16 o | | 2l | PROJ. MNGR:  JON GULBRANSON
| | POST IS WRAPPED IN GRAPHIC G-EX1.10-02 | | [ms : Agys LEAD CARP:  TBD
POST IS | | GRAPHIC IS LAMDAFLEX VINYL | | == i o S DRAWN BY: SHAUN RENFRO
2 1/2" ROUND ALUMINUM TUBE | | | | | L] % = iivg : . SHIPDATE:  11/15/2017
1 W/ LAMDAFLEX VINYL GRAPHIC 1 } } } } ‘ : 355" LOAD-IN DATE:  11/15/2017
—— J25" 355" | PLOT DATE:
2 2 | | | | |
} } } } ! SCALE
| | | | | g o" —
| | | | AS NOTED
} | } } } LAYER 1 1/8" MDF LASER CUT AND ETCHED
) | | / SHEET TITLE
| | | | \ — e
} } } } 10 GEOLOGY MAP
| | | | JR STANCHION
| | | | /
D | |
o | | —~ 9" —
| | | |
BASE PLATE ATTACHES TO
TUBE WITH 3/8" FLAT HEAD | | | | LAYER 2
HEX DRIVE BOLT | | | |
o | |
BASE PLATE IS | | | |
2 ALUMINUM PLATE - o /o JR SHIP SILHOUETTE suio: ,
+ ! = 710.01 / FRONT VIEW SCALE: 1'-0" = 1'-0"
KA A ! | I T | I I - 7T _
J‘ J — A 8
lu 1" lu
2 2 - 2" SHEET IDENTIFICATION
18" 18" 18"
@ CORE GRAPHIC suip 1 ID 1 O 21
FRONT FRONT 710.01 / FLATTENED VIEW  SCALE: 3" = 1'-0" .
SECTION A-A S&E/IXDlA}:OL-E(;(ZGRAPH IC
SCALE 3" = 10" /0_1\ JR STANCHION BUILD 1 WRAP AROUND ALUMINUM TUBE Z 1 O O 1
@ ORTHOGRAPHIC PROJECTION SCALE: 3" = 1'-0" .
S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\10 GEOLOGY MAP\10.21-22 JR STANCHION.DWG ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


LAMDAFLEX VINYL GRAPHIC WRAPPED AROUND 2 1/2" X 16 GA ALUMINUM TUBE

RSI WILL BREAK EDGES LAMDAFLEX VINYL GRAPHIC ON TOP OF 1/2" PLATE ALUMINUM BASE

4X 1/2" ROUND OVER

I /VQ

A
18"
8"
!
et 18" —
m STANCHION BUILD 1
FRONT @ ISOMETRIC VIEW SCALE: 3" = 1'-0"
GRAPHICS \Q 1 \ O/
3/8" WHITE SINTRA - G-EX1.07-01 ! 2
- G-EX1.08-01
- G-EX1.09-01 1. f ) )
GRAPHIC G-EX1.10-01 IS DIRECT PRINT TO - g | " —_ 2 —— 7 —— 2, —
{ FORMICA - NON-MAGNETIC WRITABLE SURFACE @1/4" #10-24 X 3/4 SS BINDING BOLTS )
I » — — 12 -
8 3\ A C - / 4X ©9/32" THRU HOLE
/o1, CONTENT PANEL BUILD 3
1. | \Z\lay FRONT VIEW SCALE: 1'-0" = 1'-0"
2 <= G-EX1.07-01
19 ] G-EX1.08-01
) 16 1R PAD BETWEEN CONTENT PANEL AND BRACKET WITH FELT G-EX1 09-01
8 N\ /< @ || N ) OTHER SIDE IS FORMICA I
: | e
\ i i DETAIL C
1" ALUMINU 2" 2 ‘ SCALE 1l On _ 1l Oll
3 ROD Y ‘ =1
J‘ % A ‘f BN ﬂ‘ CONTENT PANEL ‘f T ﬂ‘
—_— 4" ALUMINUM | | IS ATTACHED TO BRACKET | |
INSET CAP | | W/ 4X @1/4" #10-24 X 3/4 SS BINDING BOLTS ‘ |
|
| | | |
o | |
| | | |
| | | |
| | | |
| | | |
o | |
| | | |
L | |
| | | |
| | | |
| | | |
| | | |
45%-- o | |
‘ ‘ ‘ ‘ n
L POST IS WRAPPED IN GRAPHIC: | | 35,
POST IS | | - G-EX1.07-02 | |
2 1/2" ROUND ALUMINUM TUBE | | - G-EX1.08-02 | |
W/ LAMDAFLEX VINYL GRAPHIC | | - G-EX1.09-02 | |
—= @2} 35" } | } GRAPHIC IS LAMDAFLEX VINYL } }
o | |
| | | |
| | | |
| | | |
| | | |
o | |
| | | |
b | |
| | | |
| | | |
| | | |
| | | |
o | |
o | |
BASE PLATE ATTACHES TO | | | |
TUBE WITH 3/8" FLAT HEAD | ‘ | |
HEX DRIVE BOLT | | ‘ | Y
| | | |
|
BASE PLATE IS | \ | | | - 77w -
K 1/2" ALUMINUM PLATE } } } }
+ ! =
NN SN PN ! | I | | I I
1 1 =
1 ! A /o5 , CORE GRAPHIC suiio1
) ) \Z\lo.y FLATTENED VIEW  SCALE: 3" = 1'-0"
18" 18 18 G-EX1.07-02
G-EX1.08-02
SECTION A-A FRONT FRONT G-EX1.09-02
SCALE 3" = 1'-0" LAMDAFLEX VINYL GRAPHIC WRAP ROUND POST

BUILD 3
SCALE: 3" = 1'-0"

Z10.02 / ORTHOGRAPHIC PROJECTION

/o1, STANCHION
\z100z/

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\10 GEOLOGY MAP\10.21-22 JR STANCHION.DWG

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

TRAVELING EXHIBIT
~ STANCHION

POP UP / DRILL DOWN

ISSUE

MARK | DATE | DESCRIPTION

SMR | 08/23/17 | FOR REVIEW

SMR | 08/23/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: TBD

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

10 GEOLOGY MAP
STANCHION

SHEET IDENTIFICATION

ID 10.22
Z10.02



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


T s = — Diwensood
G-BX1.06)1A G-5X1.06)2A G-BX1.06)3A G-5X1.0604A St o

~
~
~

6900 N. CENTRAL PARK AVE
? /\ U | LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM
3 \\/ v v/ \\_//
14
4 N / h / h / A / CLIENT

VISIBLE VISIBLE VISIBLE VISIBLE LEADERSHIP
15%-- cuUT 15‘11-- CUT 15‘11-- CUT = - 15%" CUT 1201 NEW YORK AVE NW #420
1 1 1 1 WASHINGTON, DC 20005

—— 171"BLEED - —— 1721"BLEED - —— 171"BLEED - —— 171"BLEED —— P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

lu Ju iu iu
‘ \ / e 14 - e 14 I e 14 I e 14 - CONSORTIUM FOR OCEAN
3

?
4
?
4

?

— 14y = -

TOP 1 TOP TOP TOP
/o1, DYNO PUZZLE  suo: 55" BLEED ‘ S
\2\10.9 TOP VIEW SCALE: 1" = 1'-0" I - — - — — — 34" CUT I - - - — DESIGNER
ol visiBLE
| | : E . - _ | | | | -
v 4230 1 430 ' v v Tu g won e W gm g c
I 4 SEPARATE 17% 15, 14% | G'EX1 06'01 B | N I CE = 235"215"20, | G'EX1 06'038 | 19" 17" 16 | G'EX1 06'048 | I u I
T /P'ECES n b T N i CREATIVE
15" ! - = —— — — ~ 4421 VISIBLE = Y Y ! 6900 N. CENTRAL PARK AVE,
3. v v - - = = = = LINCOLNWOOD, IL 60712
3 - 45Z CUT -_— 1 - — — ;
- 4421 VISIBLE — 3 1 et 44‘—1" VISIBLE —
21 SOLID FOAM - 453" CUT - - 474" BLEED | - 443" VISIBLE o - 453" CUT | PROJECT
/ CORE 3 MIDDLE - 451" CUT - 4 :
- 473" BLEED — 1 —- 473" BLEED — i
471" BLEED '
30, 3 / MIDDLE - 2 - MIDDLE I U)
543" 203" MIDDLE = I
|
/ = - / = / = / —~ ; E i m
WATERPROOF
X HEAVY DUTY G- 1.06-91C G- 1.06-\)2B G- 1.06-03C G- 1.06-04C 8 f i _I
VINYL SLIP I
COVERS / / / / — E i N
163 v v U \\/ — : N
N N N
1y S 7 L 4y L I v AL 77 L (R = ! )
VISIBLE VISIBLE VISIBLE VISIBLE ~ ]
3, TAMPER PROOF —=  155"CUT = —=—  150"CUT = —=—  15J"CUT = —=— 15)"CUT = A Ll D_
— 14y = ZIPPER ALONG > i
BOTTOM EDGE —=— 17J"BLEED —=— —=— 17J"BLEED —=— —=— 17J"BLEED —— ~ = 17)"BLEED = D) =< !
BOTTOM BOTTOM BOTTOM BOTTOM 8—) E i D
/\ I
o 3 DINQ PUZZLE __auu: " DINO PUZZLE - GRAPHIC LAYOUT = suwo: o N
.03/ FRONT VIEW SCALE: 1" = 1'-0 i
\J @ FLATTENED VIEW SCALE: 1" = 1'-0" !
|
1
] ] ] ISSUE
N\ N A~ MARK | DATE | DESCRIPTION
SMR | 08/22/17 | FOR REVIEW
G- 1 .1 1- 1A G- 1 .1 1- A G- 1 .1 1- 3A SMR | 10/10/17 | APPROVED TO BUILD
? /\ \_/ ] U J U J SMR | 11/17/17 | REV GRAPHIC TEMPS
143" \\\_/ \\\\_/ v
‘ \ / ——— 1 4" - —— 1 4%" - —— 1 4" -
VISIBLE VISIBLE VISIBLE
- 143 - —=  15"CUT = —=—  150"CUT = = 15"CUT =
17" BLEED T 17" BLEED
/os , CORE PUZZLE  suio: T = T 17g'BLEED = e - MANAGEMENT
@ TOP VIEW SCALE: 1" = 1'-0" TOP TOP TOP PROJECTNO. 4831
PROJ. MNGR: JON GULBRANSON

______ | I — — — e LEAD CARP: TBD
‘ ‘ ‘ ‘ DRAWN BY: SHAUN RENFRO
4 SEPARATE T T SHIP DATE: 11/15/2017
[ PIECES | | S | 4] | LOAD-IN DATE:  11/15/2017
18" 16" 15" G-EX1.11-01B | 23,"215"20;" G-EX1.11-02B | 19"175"165" G-EX1.11-03B | PLOT DATE:
15" i ¢ SIDE SCALE
Y - v v v v
Y ! - — = = — = = AS NOTED
| CORE 2 1 vis — 445" VISIBLE —
1 1 — 445" VISIBLE - SHEET TITLE
524 / —~ 455" CUT -] 2 n - 45%" CUT —
i ; rfroie - - 45} out - ) il e _ 10 GEOLOGY MAP
’ MIDDLE — 47%" BLEED u ISIIDDLE DINO PUZZLE
MIDDLE CORE PUZZLE
' WATERPROOF
‘ UYL SLIP N\ N\ N\
1 COVERS G-EX1.11-D1C G-EX1.11-02C G-EX1.11-03C
162"
3 TAMPER PROOF 14" 141!! 14!!
= 4= ZIPPER ALONG ~ T wvisBLE T I e M T wvisBLE T
BOTTOM EDGE VISIBLE
—=— 1B"CUT = e 154"CUT = = 1'CUT = SHEET IDENTIFICATION
— = 17"BLEED = - 17‘11" BLEED |—= — =  17"BLEED =

CORE PUZZLE
@ FRONT VIEW SCALE: l"BiliF-)O:'I: BOTTOM BOTTOM BOTTOM ID 1 O - 30
@ CORE PUZZLE - GRAPHIC LAYOUT  suno: 710 .03

Z10.03 / FLATTENED VIEW SCALE: 1" =1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\10 GEOLOGY MAP\10.30 3D CORE PUZZLES 101017.DWG ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


WELD ANGLE BRACKETS TO BASE PLATE
ATTACH TO FRAME WITH

ALANGLE  NOT TO SCALE
| L
7 " iu L
16 2
!

O
I

ISOMETRIC

BUILD 9

G 3/8-16 x 1 1/4" BUTTON HEAD BOLT
| I (McM-C #92949A626) (x9)
INTO TAPPED HOLES IN FRAME
50" - ‘
/
450u 1"
\ / 24" / 1?
\ \
75°" Y | |
- 1%" »
48" ! TO
. J‘ /
8
A
1"
1O
3
A % ]
!
% _ 3 4
4 1
K | 12" -_—
! S~ FRONT
—— 8" —
1
- 20l -
/o2 JR KIOSK BUILD 1 4 I
\Z\Zw ISOMETRIC VIEW NOT TO SCALE L 720.01
SCALE 1-1/2" = 1'-0"
— — A
) 4 ) ‘ ‘
‘ 12"
|
S > .
OVERVIEW PANEL
JR INTERACTIVE 3/8" SINTRA
DOUBLE SIDED GRAPHIC |
I ‘ G-EX2.01-03 & G-EX.01-04 | |
g‘ "; .AL HeH /A Q\HeH
Sl o4l 0) et o
: el @3/4" x 3/4" LOCKING STAND OFF |
{ 12 STAINLESS STEEL, SATIN FINISH |
§ il (MBS #LBLS19-25) (x5) ()
3 & 8-32 x 1" FLAT HEAD BOLT
i (McM-C #91771A99) (x5)
; INTO TAPPED HOLE IN FRAME —_| |
3 q | b
|
i
g 96"
:
| G-EX2.01-03
: 57" e S S |l be 69" 84
| ; & G-EX2.01-4 \ ;
n ‘
g 77
Kl
Kl
iaes
z<°°°
%
{
3
4
e
& !
g A
g |
: y 14" \ *
% % 8" 8"
[¢ \)\)ﬁ NAARX \)\)ﬁ)ﬁ\)\)ﬁ)ﬁ\)\)\ g N 2XXN2X N XX N XXX + ' ' \ @ @ Mj g ' '
L A
\ 1/2" AL BASE PLATE - 28%-- - T
w/ CHAMFERED EDGE BY RS
et 48" —

SCALE 1-1/2" = 1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG

“u " JRIS A STEM MARVEL KIOSK

ORTHOGRAPHIC PROJECTION

/s, ANGLE BRACKET
\z2001)

SCALE

:1'-0" =1'-0"

/0 JR KIOSK

BUILD 1

Z20.01 / ISOMETRIC VIEW

NOT TO SCALE

REMOVE BOX SIDE
FOR ACCESS
TO LOCKING BOLTS

\ C) )
A S
@ )
@ @

30ﬁ"

¢

<—7"—>

1"

RIGHT SIDE

BUILD 1

Z20.01 / ORTHOGRAPHIC PROJECTION

SCALE: 1 1/2" = 1'-0’

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

S

Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, IL.

60712

WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIOM FOR
OCEAN LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900

WWW.OCEANLEADERHIP,COM

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.

LINCOLNWOOQD, IL 60712

PROJECT

TRAVELING EXHIBIT

POP UP / DRILL DOWN

JR KIOSK

ISSUE

MARK

DATE

DESCRIPTION

SMR

10/17/17 | FOR REVIEW

SMR

10/31/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 01/15/2018
LOAD-IN DATE: 01/15/2018
PLOT DATE:

SCALE

SHEET TITLE

20 JR IS ASTEM
MARVEL KIOSK

OVERVIEW

SHEET IDENTIFICATION

ID 20.00
£20.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


v §u
vy’ %
% 15" ﬂ J‘ LASER CUT _
P . 1" SHIP RELIEF I e e e mil Studeo, Tnc.
1/2" EXTIRA (CNC) ; 6" % 10-24 x 3/4" 6" ALIGNMENT HOLE 6900 N. CENTRAL PARK AVE
4193 ROUND OVER o1/4" THRY HOLE 2 + ~" THREADED INSERT 2 FOR 1/2" DOWEL (x4) LINCOLNWOOD, IL. 60712
" FRONT EDGES FOR #10 BOLT (x18) — # # 'd (McM-C #92105A010) (x8) L WWW.RAVENSWOODSTUDIO.COM
———— 1 f 10-24 x 3/4"
1 =T @7/16" THRU HOLE BY RSI A M J‘ QE'SN':/'/';!}‘[T)SVCJEES S U S THREADED INSERT CLIENT
ALIGN WITH FAME MEMBERS (x8) g @ (McM-C #92105A010) (x16)
- 12" = - BOX TOP PLATE 1 TOP CONSORTIOM FOR
3 8 4 "
—— 68" — i 1/2" EXTIRA (CNC) = BOX BOTTOM PLATE 1 OCEAN LEADERSHIP
TOP ] , BOX TOP PLATE 2 1/2" EXTIRA (CNC) 1201 NEW YORK AVE NW #420
D 16 CAP —= === 1" GAP 3/4" EXTIRA (CNC) (x8) + + (x2 TOTAL 1L & 1R) WASHINGTON, DC 20005
LA A P. 202.232.3900
\ — A \ mmem 3. NO% 3., j\ BOX BOTTOM PLATE 2 WWW.OCEANLEADERHIP,COM
TETIE / \ I 1 AP | T 56 |Xo| 16 1/2" EXTIRA (CNC)
HHHA / r 16 | e H  (x16 TOTAL 8L & 8R)
A 5 — —~ I DESIGNER
| SECTION F-F FRONT RIGHT o
Kl ) | -—
; | FRONT SCALE 1-1/2" = 1'-0"
(-] (]
| : CREATIVE
| /s JR INT - BOX TOP ASSEMBLE 1 /o6 JRINT - BOX BOTTOM  assemsLe 2 TotaL (it & 18) S0 CERALPARCAE
2" | @ ORTHOGRAPHIC PROJECTION ~ SCALE: 1 1/2" = 1'-0" @ ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" |
69" 57" 69"
| .. . oPEN PROJECT
o ‘ o 69 4 . 568
78" 78"
o \ . il :
% ] [
i
|
m OMC- p |
3 i § ° ° | ‘ t< 15" >1 ; I: : :‘
m
* 1] | W’WFF(\W‘\ 11 [ I IT \‘W\\'Fmﬁ 11 o — :
. | | A 1T
. | + ek |0 0y omemmoe 43 1O
_ 16 ° ‘ ° § 8 | I
; j 1 J ° 0600 ° (x4) — !
N ' © f . r O | =—
- GAP "2 A =z ! !
1 e
77u ' 1
2 | . | ~ _1 I
' ok : ' r | TOP -
" iA 3 f ;., | % g : m
n ™ 4 " n " ’ ° ° HH 1
e B = 4 3l el -] V/ 7 Ul 10-24 x 3" FLAT HEAD BOLT <
2l 2 ? ' - McM-C #92210A258) (x13 al D)
—— 12" —— - 10" B ( chvi- )(X ) m :
SR _ O~ |
- 15" = — 10" = 3/8"-16 x 3" FLAT HEAD BOLT . i @1/4" THRU HOLE A an I
- 12" = (McM-C #92210A636) (x10) - o o & COUNTER SINK - !
SECTION A-A FRONT RIGHT SECTION B-B FRONT RIGHT \v - . FOR #10 FLAT HEAD BOLT | |
| | — ] " ¢ X12 I
SCALE 1" = 1'-0 SCALE 14/2" = 10" . (x12)
@ [e} o H
m JR KIOSK - INTERACTIVE ASSEMBLE 1 /0—4\ JR INTERACTIVE - BOX FRAME assemsLe 1 » X X 1 ISSUE
@ ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" @ ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" : A, h N MARK | DATE | DESCRIPTION
) SMR | 10/17/17 | FOR REVIEW
S ° SMR | 10/31/17 | APPROVED TO BUILD
BOX BASE N e
\ & |_— @7/16" THRU HOLE
& \ L & COUNTERSINK
o 9 9 il
S A FOR 3/8" FLAT HEAD BOLTS
° D (X1 O)
BOX TOP & . P
% o
~ & MANAGEMENT
. ‘e o o | — 97/16" THRU HOLE BY RSl ' SROJECTNG. 6o
BOX FRONT PR ° °1 ALIGN w/ AL FRAME i PROJ. MNGR:  JON GULBRANDSON
S > Ve " (x8) " LEAD CARP: BEAU HALE
S ~ 8 8 DRAWN BY: SHAUN RENFRO
10-24 x 1 3/4" BUTTON HEAD BOLT ] :
1/4" CLEAR ACRYLIC (CNC :
(McM-C #92949A252) (x18) ( ) / SS,IA\PDI-)IST;ATE: 8122@21:
@4" ALUMINUM HAND WHEEL BOX FRONT PANEL 3 -~ o S ° © i PLOT DATE:
(McM-C #8515K24) (x2) GRAPHIC G-EX.2.01-06 ~
1/4" SINTRA & I SCALE
/ )
BOX FRAME N . ° AS NOTED
& > \
o &< I \ 3/8"-16 x 1 1/4" & o p SHEET TITLE
o ~ Q BUTTON HEAD BOLT
o \ o (McM-C #92949A626) (x20) 1 20 JR IS A STEM
| _ LA N [ 2 -l — MARVEL KIOSK
olo Q QQ ‘ ° |@©©q:/\ \/:/\ \\\/\@@@I ° 1T TTIT I \; INTERACTIVE
o _ & \ L | « | @1"THRU HOLE ! ASSEMBLY
- < |P i SIDE PANEL o o IN BACK PLATE !
@ N | N 1/4" EXTIRA (x2) 14" ¢ A%/ FOR FILLET WELDS 1 & PARTS
I 1 x9 i
I o - P d fls INTERACTIVE CORE 133" | | (x9)
' i BOX BOTTOM + I ) l
o N .::/ % 1 o Y el 172" WHITE UHMW '
I S
< \ / ‘{/ 1" J 3|| " "
I 4 4 —— - " 7"
3/8"-16 x 3" FLAT HEAD BOLT
(McM-C #92210A636) (x10) — 15" -—
_ SHEET IDENTIFICATION
- @ \/ 10-24 x 3" FLAT HEAD BOLT FRONT RIGHT
_ % (McM-C #92210A258) (x13) I D 2 O ] 2 1
/o2 INTERACTIVE nssewmte 1 . /0 " JR KIOSK - MECHANICAL CORE assevie 1 o7 VJRKINT - BOX BASE  suios
@ ISOMETRIC VIEW NOT TO SCALE .o @ EXPLODED ISOMETRIC NOT TO SCALE @ ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1-0" 2 2 O O 2
| |
c o
S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


2 R

et 12" —
TOP
—— 5%" |
%" GAP —»=— -
A- A e o 7
i TEL"T o] 1
Al %i‘ r AR o
] \ i 2
| \ }
| "
° ° %c |
|
\
©) © 1 l (] o)
\ IHHL
| n
|
‘ An
° ° Tt | 354
1NNl
) ‘ © [ l (] o)
69" | 69" U
|
I
° ° e |
Iunl
ol I |e - } V o °
g i —
-E - :ﬂ[: o } %H % ) J‘ o o
I GAP
° ° %ﬁ }
| |
i ©)] | © jl l 1 o o
I H
sl 1H
\
g
|
s
t ! |
o 22" — — 12" —
SECTION A-A RIGHT BACK

SCALE 1-1/2" = 1'-0"

/o1 JR KIOSK - BOX FRONT assewste 1

20.03 / ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0"

20.03 / ISOMETRIC VIEW NOT TO SCALE

" 02 " JR KIOSK - BOX FRONT assewte 1
\2008

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG

1

16

" GAP

BOX FRONT
PLATE 4

(CNC)

10-24 x 3/4"
THREADED INSERT
(McM-C #92105A010)

L 4

L 4

-
— O

3" _—

SCALE: 1'-0" = 1'-0" Z20.03 / TOP VIEW

SCALE: 1'-0" = 1'-0"

"o RETRACTOR BUSHING suo: o5 . CORE SAMPLE BUSHING 1 suio:
\2082)

Z20.03 / TOP VIEW
1/2" DELRIN

RETRACTOR BUSHING

(x18)

‘ S

10-24 x 3/4" THRD INSERT (McM-C #92105A010) (x2)
RETRACTOR (McM-C #1324A29)
10-24 x 1" BUTTON HEAD BOLT
(McM-C #92949A247) (x2)
1/2" DELRIN /—QQ
1/2" EXTIRA

o
L -

A

-

., bH
-

1/2" DELRIN

BOX FRONT

PANEL 7

GRAPHIC G-EX.2.01-06C
ATTACH TO PLATE 7
REMOVABLE

Q
Q
Q
Q Q
Q
° Q Q
Q Q
°
Q
Q %\ Q
° o %
\
Q ° ° [\)
° %% N °
o <
Q
Q RS
°
Q

\ BOX FRONT

PLATE 8
3/4" EXTIRA (CNC)

\ BOX FRONT

PLATE 6
GRAPHIC 3/4" EXTIRA (CNC)

) G-EX2.01-06E
3/8" SINTRA
BOX FRONT

PLATE 5

GRAPHICS 3/4" EXTIRA (CNC)
G- EX2.01-06A&B & D & E

3/8" SINTRA

CORE SAMPLE BUSHING 1
& CORE SAMPLE BUSHING 2
1/2" DELRIN

CORE SAMPLE ASSEMBLY

s JR KIOSK - BOX FRONT assemste 1

20.03

£

ISOMETRIC VIEW

NOT TO SCALE

— - DWW -
— O

e 3" —

/06 ", CORE SAMPLE BUSHING 2 suio 1

Z20.03 / TOP VIEW SCALE: 1'-0" = 1'-0"
1/2" DELRIN

ﬂu
16

/o7, CORE SAMPLE  suio1

Z20.03 / TOP VIEW SCALE: 1'-0" = 1'-0"

—— ? e
— %u M
'
////ﬁMAGNET
/
lu
12,

@1/2" WHITE
/ UHMW ROD
12"

/ FLAT HEAD SCREW

‘\ \‘ @3/4" WHITE
. UHMW ROD

s\ CORE SAMPLE  &uip:

Z20.03 / FRONT VIEW SCALE: 1'-0" = 1'-0"

£

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIOM FOR

OCEAN LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERHIP,COM

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

JR KIOSK

TRAVELING EXHIBIT

POP UP / DRILL DOWN

ISSUE

MARK | DATE | DESCRIPTION

SMR | 10/17/17 | FOR REVIEW

SMR | 10/31/17 | APPROVED TO BUILD

PROJECT NO. 4831
PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 01/15/2018
LOAD-IN DATE: 01/15/2018
PLOT DATE:
SCALE
AS NOTED
SHEET TITLE

20 JR IS ASTEM
MARVEL KIOSK
BOX FRONT

& PARTS

SHEET IDENTIFICATION

ID 20.21
£20.03



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


NN
FL
I
L» ——t

}1" o 1}1" ——— 8 —— 1}1" -
= | g 10%" —
T 16GA STRIP STEEL
F - 112 TOP
TOP | i i o
— | | |
—— " —— o 6%" — 1 | | 1, |
A + SHAFT 1] } } 1] }
A Z 1n < | | |
EONNE % C i | | i |
L - % - : ‘
Y I il
‘ = M‘LM | \ —— 11" o 8" —— 11" - —»1"«
4 4 4
3 a ﬁi | 101" —
] Il Il 2
i —— =it
. 5 | | FRONT RIGHT
\ ﬁ m JR KIOSK - LINEAR SHAFT BRACKET &uins
u %L \w ORTHOGRAPHIC PROJECTION SCALE: 1'-0" = 1'-0"
39" 1 1
° SHAFT i i + + +
3"
59, | } 1, 1, 1 N7
é 5 HELIX 3 2 5 5 i
SHAFT | % % %
| }7 — - %" | et 6:‘1—2" — — - %"—«-——1" |
° i nit 1n 5u
5| |k a - - RIGHT B
e ML i
2t ‘ I i = =" FRONT TAP TO BOLT TO LINEAR BEARING (x4) BACK
> Semem|Dwac o o
i S = : '
o 4 15" - % w13
16 16
g | B (| SHAFT | ) v
S ;? | W O O b %
b o FS o] ; C 7. 7. c
d °—L - @ @ ! ¢ —— E 2é -—
A . 13, + 1,
— 61" — - 10} —— = 10" SHAFT = “16 ‘s i
, 11%.. : BOTTOM 1/2" BLACK DELRIN
SECTION A-A FRONT RIGHT 77
SCALE 1-1/2" = 1'-0" ‘
“o  JRKIOSK - MECHANICAL CORE  asseweie 1 oo - . _
@ ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" 16 1
et 6ﬁ" —
CHAIN DRIVE ASSEMBLY HELIX SHAFT ASSEMBLY
ROLLER CHAIN SPROCKET (McM-C #6280K514) SECTION C-C
PILLOW BLOCK w/ SET SCREW FOR @1/2" SHAFT (McM-C #7728T51) (x12) SCALE 1'-0" = 1'-0"
CHASSIS
012" x6 112" SHAFT "0 JR KIOSK - FORK BRACKET UILD 1
6-32 x 3" STANDOFF (McM-C #91125A035) \w ORTHOGRAPHIC PROJECTION SCALE: 1-0" = 1'-0"
ANSI 35 ATTACHMENT LINKS (McM-C #7321K1) & (McM-C #7321K2) 1/2" BLACK DELRIN (CNC)
6-32 x 1/2" SOCKET HEAD SCREW (McM-C #92196A148)
ANSI 35 ROLLER CHAIN
SLIP CLUTCH FOR @1/2" SHAFT (McM-C #6524K18) HELIX SHAFT

w/ BRAKE PADS (McM-C #6525K62)
& ANSI 35 CHAIN SPROCKET (McM-C #6525K11)

@1/2" x 10" SHAFT
LINEAR SHAFT ASSEMBLY

LINEAR BEARING
FOR @1/2" SHAFT
(McM-C #6483K73)

FORK BRACKET (CNC)
I ¢
DRILL BIT (3D PRINT)
01/2" x 39" LINEAR SHAFT ™~ ROLLER CHAIN SPROCKET
(McM-C #6280K322)
SHAFT SUPPORT SECTION B-B
FOR 1/2" SHAFT HELIX DRIVE ASSEMBLY SCALE 1-0" = 10"
(McM-C #6068K23) (x2)
LINEAR SHAFT BRACKET (x2)
N ANGLE GEAR FOR @1/2" SHAFT (McM-C #6843K12)

ROLLER CHAIN SPROCKET (McM-C #6280K322)
ANSI 35 ROLLER CHAIN

FRONT RIGHT

BOTTOM
/o2, MECH CORE assemste 1 /0 ", JR KIOSK - MECHANICAL CORE assevie 1 /o6 JRKIOSK - DRILL BIT  erins
@ ISOMETRIC VIEW NOT TO SCALE @ EXPLODED ISOMETRIC NOT TO SCALE \Z\Zw ORTHOGRAPHIC PROJECTION SCALE: 1'-0" = 1'-0"
3D PRINTED

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG

CHAMBER FOR
RETRACTOR WIRE ROPE STOP

SLOT FOR FORK BUSHING

DRILL AND TAP FOR SET SCREWS

CHAMBER FOR MAGNETIC ROD

-

TOP

1/4" STEEL PENCIL ROD

§||
378
3"
594
16"
1 1 i
—— 1"
2

FRONT
o7 JR KIOSK - HELIX SHAFT suin:

Z20.04 / ORTHOGRAPHIC PROJECTION SCALE: 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIOM FOR

OCEAN LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERHIP,COM

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

JR KIOSK

TRAVELING EXHIBIT

POP UP / DRILL DOWN

ISSUE

MARK | DATE | DESCRIPTION

SMR | 10/17/17 | FOR REVIEW

SMR | 10/31/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 01/15/2018
LOAD-IN DATE: 01/15/2018
PLOT DATE:

SCALE

SHEET TITLE

20 JR IS A STEM
MARVEL KIOSK
MECHANICAL CORE
& PARTS

SHEET IDENTIFICATION

ID 20.21
£20.04



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


Ju
WELD 6
3 PIECES
UNISTRUT %

TAP 10-24 THRU HOLES
& TAP 3/8"-16 THRU HOLES TO P
IN UNISTRUT BRACKETS

S

ALIGN w/ SIDE PLATES 7"
—— A
I oo
oo
[ I :
\
] [ T]
I% ﬁi
— i |
°— 3 i ‘ A
5921 \ | \
% ﬁ
I% %1
) | | ‘ | |
°— HE ‘ A
| \
\ \
562" % %{
\ \ \
| ) ] \ I
o e H
I% %1
B B
I I
N
N S oo oo
7 ToRenaou=s
I# #1
s p
| \
I

SECTION A-A

SCALE 1-1/2" = 1'-0"

“a " JR KIOSK - CHASSIS

FRONT

565"

N~

—
|

@ 2 ' @ Y9’ 9@

—
L

Tl

—
—

RIGHT

ASSEMBLE 1

20.05 / ORTHOGRAPHIC PROJECTION

ATTACH UNISTRUT BRACKET
TO 1/4" AL SIDE PLATES

w/ 10-24 x 1" STAINLESS STEEL
HEX DRIVE FLAT HEAD BOLT
(McM-C #92210A247) (x32)

ATTACH AL ANGLE PIECES

TO 1/4" AL SIDE PLATES

w/ 3/8"-16 x 1" STAINLESS STEEL
HEX DRIVE FLAT HEAD BOLT
(McM-C #92210A624) (x24)

ATTACH ROD SPACER

TO 1/4" AL SIDE PLATES

w/ 10-24 x 1" STAINLESS STEEL
HEX DRIVE FLAT HEAD BOLT
(McM-C #92210A247) (x6)

ASSEMBLE 1
NOT TO SCALE

20.05 / ISOMETRIC VIEW

/o2 " JR KIOSK - CHASSIS
\2008 )

SCALE: 1 1/2" = 1'-0"

&

&

ey

7> &

\

AL ANGLE 2 (x4 TOTAL = 2L & 2R)

W\

AQ\

AL ANGLE 3 (x2 TOTAL = 1L & 1R)

/ STEEL UNISTRUT

| S
8
B 10%" -—
TOP
.
L i
FRONT

1/8" STEEL PLATE
WELD TO UNISTRUT
DRILL AND TAP AS NEEDED

20.05

ORTHOGRAPHIC PROJECTION

"o JR KIOSK - UNISTRUT BRACKET
\20.05 )

il

C

‘ NI=

s JR KIOSK - UNISTRUT BRACKET

10"

FRONT

20.05

e

ORTHOGRAPHIC PROJECTION

1/2" AL SIDE PLATES (x2)

UNISTRUT BRACKET (x9)

Y

BN
.->

(/)

SR

-0 i

AL ANGLE 1 (x4 TOTAL = 2L & 2R)

ROD SPACER
@1/2" ROD (x3)

‘0
/
. o
0

i’ 0

/a
pd

\\

\
ARV

20.05

ISOMETRIC VIEW

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG

@ JR KIOSK - CHASSIS ASSEMBLE 1 2
\205 )

NOT TO SCALE

N
Ny
N0,
%\
¥
¥ >
>
P
¥
~
DN
P
N0,
¥
<
N0,
W

-l 1%u I —
| 1%" —
ASSEMBLE 1
e |
SCALE: 6" = 1'-0" @O© o
TAP 10-24 —%0)
OPEN
EN © ©
2
RIGHT |°
ASSEMBLE 1
SCALE: 6" = 1'-0" © ©
OPEN
@7/16" THRU HOLE
& COUNTERSINK FOR
3/8" FLAT HEAD BOLT (x12)
z©) ©
®
@7/16" THRU HOLE (x10) —_| OPEN 1.
©
©
OPEN
@1/4" THRU HOLE
COUNTERSINK FOR
#10 BOLT (x21)
- ) ]
& &
®
®
®
®
© ©
OPEN
© ©
®
®
®
S 6%" —

BUILD 2 TOTAL (1L & 1R)

N

§u
378

=

—

33"

=
O,

(=

N

=
(@)

=

=]

20.05 / FRONT VIEW

/o SIDE PLATE
\2008

SCALE: 3" = 1'-0"

11w

——

lu
15

RONT

—_—

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIOM FOR

OCEAN LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERHIP,COM

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

JR KIOSK

TRAVELING EXHIBIT

POP UP / DRILL DOWN

ISSUE

MARK | DATE | DESCRIPTION

SMR | 10/17/17 | FOR REVIEW

SMR | 10/31/17 | APPROVED TO BUILD

e

———

7 JR KIOSK = AL ANGLE 1 BUILD 4 TOTAL (2L & 2R)

z

S
N

20.05/ ORTHOGRAPHIC PROJECTION

SCALE: 6" = 1'-0"

==
R i)
) L/
12" —— An
4
TOP
A |
|| 3. ]
f 67 'H L+
@ ° Ol
| A@% @
el N |
\ %@& 63" ‘ - 5" u
] 2 || |
@ Lf@%
L S
‘ 1%"
o ‘ ! ' | |
7w
34% —»ﬂ"<— $—> 3 i
1 4
—— 1%" e — - 1%" I —
FRONT RIGHT
| /o " AL ANGLE 2 suio 47oraL 2L & 28
| I:@i \Z\Z(iy ORTHOGRAPHIC PROJECTION SCALE: 6" =1'-0"
r] 31"
i | 11" F
3, # 2
263
[T
2 i
L/
1w
Ol ﬂt ~ 3
‘ = OP
A | _
i —
J '~'1\
© A 3 + A1 * |
|| S 21u it |
1%" [ ) 3 - [C
2110 ! | + 4 F
% —»ﬂ - $—> 3" |y ——
16 4
—— 1%" — —— 1%" |
FRONT RIGHT
]
19"
i F%J m AL ANGLE 3 BUILD 2 TOTAL (1L & 1R)
jif©t- \Z\Zw ORTHOGRAPHIC PROJECTION SCALE: 6" = 1'-0"
12"
I
AT
@)
)| 7"
[im i
3. iz
5ﬁ )
| | 11
o — 3u —
4
1n
—— 12 |
RIGHT

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

PROJECT NO. 4831
PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 01/15/2018
LOAD-IN DATE: 01/15/2018
PLOT DATE:
SCALE
AS NOTED
SHEET TITLE

20 JR IS ASTEM
MARVEL KIOSK
CHASSIS & PARTS

SHEET IDENTIFICATION

ID 20.21
£20.05



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


R285"
VISIBLE
& CUT

G-EX2.01-03

285" VISIBLE & CUT

DOUBLE SIDED GRAPHIC ON 3/8" SINTRA
REVERSIBLE. FLIPS ON HORIZONTAL AXIS

304" BLEED

20.06 / FRONT VIEW

GRAPHIC G-EX2.01-03

3/8" SINTRA

SCALE: 3" = 1'-0"

20.06

FRONT VIEW SCALE: 3" = 1'-0"

@," OBSCURE @," OBSCURE
BY STANDOFF CAPS STANDOFF CAPS
(x5) (x5)
N A
R )
| |
| |
| |
| |
| 59" |
| BLEED |
| |
| |
| |
| |
’
(N | > (D |
e e G-EX2.01-04 -
\
\
| |
| \ |
\
| |
| |
| |
| |
| |
| |
R285"
VISIBLE
| & CUT |
| |
(N
_ !
J -
— - 285" VISIBLE & CUT —
1"
— — 305" BLEED —
BUILD 1 /o2 OVERVIEW PANEL - DEEP DIVE BUILD 1

@ OVERVIEW PANEL - LIGHT CONTENT

FRONT SIDE OF OVERVIEW PANEL

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 JR KIOSK.DWG

GRAPHIC G-EX2.01-04
3/8" SINTRA
BACK SIDE OF OVERVIEW PANEL

fan

15" VISIBLE & CUT

——

2" 71
)

SZ"
VISIBLE
4" CUT

—=— 6" BLEED —=

Qé" THRU HOLE BY RSI
3..

r 8
\ 3/8" SINTRA

———

1/4" SINTRA

1/4" SINTRA B R . . ;
3/8" SINTRA 3/8" SINTRA
cuT / G-3X2.01-06A /
p N i T i | . I
/ S Lo — I
68L" \
\ 8 | | | | | |
BLEED
| | | | | |
13
BLEED
| | | | | | | |
5" 5"
' | 363 | | | | 365 | |
' j . BLEED 35" BLEED
| | | | | | | |
5"
| | | | 343 | | | |
, VISIBLE
o
5, 5,
| | 348" | | 33%- | | 348" | |
‘ ‘ VISIBLE, | | . |VISIBLE, |
& CUT & CUT
| | | | | | | |
| | | | | | | |
Z
34%“ E
CUT, | | | | | | |
| O | | | | | | |
| 57" | | | | | |
| 'VISIBLE | | | | | |
! Y ] !
| |
| | ~=— = 1" VISIBLE & CUT T, 1°CUT | < 12';V(':SU'$LE
37u
" A — "
S R S VISIBLE SR R S
BLEED BLEED
—— 50" CUT —=
| | G-3X2.01-00B - G-3X2.01-06D
o 1 R J || | ~— 75"BLEED — =
) / @3" THRU HOLE G-3X2.01-06C
OBSURE 4 .
HAND WHEEL % OY DO FOR SHAFT
(x2) N BY RSI(x2) + = 2 = — 3" THRU HOLE BY RS
| - - | V L 3u
. 8
| | 32 e 1
BLEED i
1 Y
cuT S % o3
| | VISIBLE 3/8" SINTRA
| | 15" VISIBLE & CUT — = 4"CUT =t
! » — 6"BLEED =
-
\ \ G-3X2.01-06E
| | T
o ' -
BLEED ‘ ‘
124" | | 3/8" SINTRA
CUT
AN / ' gg"
' VISIBLE
- | |
—— %" CUT \ \
—~—— 9" VISIBLE — = a
- 9%" o 0] — Y !
- 11%" BLEED — =
- %" VISIBLE
@ JR INTERACTIVE - FRONT GRAPHIC BUILD 1 = = tfeut
20.06 / FRONT VIEW SCALE: 3" = 1'-0" .
\\J GRAPHIC G-EX2.01-06 THRU G-EX2.01-06F ) = 3g" BLEED
174" SINTRA & 3/8" SINTRA AS NOTED G-3X2 . O 1 -06 F ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

S

Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, L.

60712

WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIOM FOR

OCEAN LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERHIP,COM

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

POP UP / DRILL DOWN

TRAVELING EXHIBIT

JR KIOSK

ISSUE

MARK

DATE

DESCRIPTION

SMR

10/17/17

FOR REVIEW

SMR

10/31/17

APPROVED TO BUILD

PROJECT NO. 4831
PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 01/15/2018
LOAD-IN DATE: 01/15/2018
PLOT DATE:
SCALE
AS NOTED
SHEET TITLE

20 JR IS A STEM
MARVEL KIOSK
GRAPHIC
TEMPLATES

SHEET IDENTIFICATION

ID 20.00
£20.06



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


i
(: (O] © ®
i TOP REMOVES FROM BASE
| FOR INTERIOR ACCESS
H ® ® H 18"
(: ® (O] ®
{
|—] v
- 18"
/1 DRILL BIT CASE /2 " DRILL BIT CASE
@ TOP VIEW SCALE: 1-1/2" = 1'-0" @ ISOMETRIC VIEW NTS
1x4 FRAMING w/1/2" OSB PANELS 1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY TOP REMOVED EOR DISPLAY
3D DRILL BIT MODEL BY OTHERS
~ // BASE AND MOUNTING TBD ~
( : : ) \ i ( : )
I [ I [
" /STENC|L . /STENC|L
— = 3 GRAPHIC L 1. GRAPHIC
i i
1" 1!!
35 35
! _ ! !
A
gu
0 316
1
1"
18" r— 16§ —
et 18" —

DRILL BIT CASE

Z20.10 / FRONT VIEW

1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY

Ca
N’

SCALE: 1-1/2" = 1'-0"

DRILL BIT CASE

Z20.10 / SIDE VIEW

n
i

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 DRILL BIT CASE.DWG

1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY

SCALE: 1-1/2" = 1'-0"

f o |

SN

SN
NS

NS

f |

18" _—

DRILL BIT_CASE w/TOP

Z220.10

=
N

TOP VIEW
1x4 FRAMING w/1/2" OSB PANELS

DRAW LATCH (McM-C #1406A470)

8-32x1" FLAT-HEAD CAP
SCREW (McM-C #91263A528) hiliiy

N

SCALE: 1-1/2" = 1'-0"

DRAW LATCH (McM-C #1406A470) —

.

B

DRILL BIT CASE w/TOP

Z220.10

..
N

ISOMETRIC VIEW
1x4 FRAMING w/1/2" OSB PANELS

NTS

iz E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P 202-232-3800
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

" 0SB
3" PRINTED SINTRA GRAPHIC

1" PLY ALIGNMENT TAB

il E

DETA

SCALE 6" = 1'-0"

>< A" PLY TOP IS REMOVABLE FOR INTERIOR ACCESS
8-32 THREADED INSERT (McM-C #92105A002)

i iR E il

NOTE:

HEIGHT OF TOP TBD BY FINAL
HEIGHT OF DRILL BIT MODEL
AND MOUNTING

A i
g
1/
Epps
N X K RRC Jog 1
L = v
! !

/s DRILL BIT CASE w/TOP

3" SWIVEL CASTER w/LOCK (McM-C #2724T430) OR SIMILAR

Z220.10

FRONT VIEW SCALE: 1-1/2" = 1'-0"
1x4 FRAMING w/1/2" OSB PANELS

iaiiy

1 A = S M s S s =S

i) i

HE T

1x2 NAILER

i\

e |t s e R e TN ot e O 2 e i A 2 |

“— 3" RIGID CASTER (McM-C #2724T450) OR SIMILAR

3" PLY BASE

SECTION A-A

SCALE 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

JR DRILL BIT CASE

POP UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/18/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE:

LOAD-IN DATE:

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

JR DRILL BIT CASE
OVERVIEW

SHEET IDENTIFICATION

Z20.10



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


i
(: (O] © ®
i TOP REMOVES FROM BASE
| FOR INTERIOR ACCESS
H ® ® ﬂ 18"
(: ® (O] ®
{
|—] v
| et 18"
/1 DRILL BIT CASE /2 " DRILL BIT CASE
@ TOP VIEW SCALE: 1-1/2" = 1'-0" @ ISOMETRIC VIEW NTS
1x4 FRAMING w/1/2" OSB PANELS 1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY TOP REMOVED EOR DISPLAY
3D DRILL BIT MODEL BY OTHERS
~ // BASE AND MOUNTING TBD ~
( : : ) \ i ( :
I [ I [
" /STENC|L . /STENC|L
— = 3 GRAPHIC | 1. GRAPHIC
i i
1" 1!!
35 35
! _ ! !
A
gu
0 316
1
1"
18" - 16§ —
et 18" —

Z20.10 / FRONT VIEW SCALE: 1-1/2" = 1'-0"
1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY

/s DRILL BIT CASE
\z2010)

DRILL BIT CASE

Z20.10 / SIDE VIEW

n
i

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\20 JR KIOSK\20 DRILL BIT CASE.DWG

SCALE: 1-1/2" = 1'-0"
1x4 FRAMING w/1/2" OSB PANELS
TOP REMOVED FOR DISPLAY

f o |

SN

SN

NS

NS

f |

18"

DRILL BIT CASE w/TOP

Z220.10

=
N

TOP VIEW

SCALE: 1-1/2" = 1'-0"

1x4 FRAMING w/1/2" OSB PANELS

DRAW LATCH (McM-C #1406A470)

8-32x1" FLAT-HEAD CAP
SCREW (McM-C #91263A528)

DRAW LATCH (McM-C #1406A470) —

i

[t—

/s

B

DRILL BIT CASE w/TOP

Z220.10

e
I

=
N

" 0SB
3" PRINTED SINTRA GRAPHIC

ISOMETRIC VIEW
1x4 FRAMING w/1/2" OSB PANELS

1" PLY ALIGNMENT TAB

i %f{ I" PLY TOP IS REMOVABLE FOR INTERIOR ACCESS
; 8-32 THREADED INSERT (McM-C #92105A002)

NTS

i iR E il

A ﬂ
DETA
| | ‘ SCALE 6" = 1'-0"
\
\
(N /A
NOTE:
& M | M/ ) HEIGHT OF TOP TBD BY FINAL
\ HEIGHT OF DRILL BIT MODEL
18" AND MOUNTING
\
\
o
© (=]
36" ' & ?‘70 07\—4| E
by ) r
5]

\
\
18" |
\
\
\
! !
\
\

j A J
3" SWIVEL CASTER w/LOCK (

/s DRILL BIT CASE w/TOP

Z220.10

FRONT VIEW
1x4 FRAMING w/1/2" O

SCALE: 1-1/2" = 1'-0"
SB PANELS

iaiiy

1 A = S M s S s =S

I HH [

HE T

1x2 NAILER

i\

e |t s e R e TN ot e O 2 e i A 2 |

“— 3" RIGID CASTER (McM-C #2724T450) OR SIMILAR

McM-C #2724T7430) OR SIMILAR

3" PLY BASE

SECTION A-A

SCALE 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P 202-232-3800
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

JR DRILL BIT CASE

POP UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/18/17 | FOR REVIEW

SLG | 11/13/17 | APPROVED TO BUILD

MANAGEMENT
PROJECT NO. 4831
PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SLG
SHIP DATE:
LOAD-IN DATE:
PLOT DATE:
SCALE

AS NOTED
SHEET TITLE
JR DRILL BIT CASE
OVERVIEW

SHEET IDENTIFICATION

Z20.10



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


| |
|
24"
1"
\\ .
\ - .
P2 NOTES: 1 1 1
- e PAINT TREATMENT P2 COLOR: RAL 2001 "ROTO ORANGE"
oo SEAL FOR EXTERIOR FINISH ] ] ] ——— 1%" — -
e SAND/EASE ALL EDGES OF INTERACTIVE oag" Y | RO KRR KR IR IR IIIR FIIR IR ,
e ALL VISIBLE HARDWARE STAINLESS STEEL = =
., ,, o TOP ISOMETRIC
(4 "
N 8 / AL ANGLE NOT TO SCALE
2 - | C
y 1" 7 n 1" i
\ J 2 LQ 16 2
%" % N
' % ' N
% -3 4 i
' \ 1%" -
" P1: 2001 ROTO ORANGE
—— 8" —
20" - FRONT RIGHT
¢

2\ CORE KIOSK

Z20.01 / NW ISOMETRIC VIEW

BUILD 1
NOT TO SCALE

£

FRAMES AND FABRIC BY OTHERS

_
@1/2" STAINLESS STEEL
LOCKING STAND OFF
L J (MBS #LBLS19-25) (x11)
&) & 8-32x1" STAINLESS STEEL
FLAT HEAD MACHINE SCREW
(McM-C #91771A99) (x11)
INTO 8-32 TAPPED HOLE
GRAPHICS PRINTED IN ALUMINUM FRAME
ON 3/8" SINTRA
g
il WHATIS A CORE
MAGNETIC INTERACTIVE
G= A
16"

\ 1/2" AL BASE PLATE

SECTION A-A

SCALE 1-1/2" = 1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG

SECTION B-B

SCALE 1-1/2" = 1'-0"

BUILD 9

Z220.01

ORTHOGRAPHIC PROJECTION

/s, ANGLE BRACKET
\z2001)

SCALE: 1'-0" = 1'-0"

P2

o
N

Y2

BUILD 1

Z220.01

NE ISOMETRIC VIEW

/s, CORE KIOSK
\200)

NOT TO SCALE

.
g
4 A
|
Il
5|
ARTIFACT CASE
5|
@
i|a
\ JI

— A
a : I |
| 12"
|
C 5 !
> . A
- 28" - =12 =
‘ I
A o) |o O
| — MAGNETOMETER
& HOLSTER
‘ 69"
|
A
1"
AR 55"
[ ] 96 1/2"
57" - — — — — ©O}+16 (S 84"
(] [ ] ‘ 51%"
[ ]
|
| A
|
|
X o) |o O 271%’
|
14" | %
g
| IS 2 P | |
L o A
FRONT
/o, WHAT IS A CORE KIOSK BUILD 1
\w ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0"

RIGHT SIDE

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

S

Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, IL.

60712

WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN

LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900

WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

TRAVELING EXHIBIT

POP UP / DRILL DOWN

CORE KIOSK

ISSUE

MARK | DATE

DESCRIPTION

SMR | 09/22/17

FOR REVIEW

SMR | 11/02/17

APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR:

JON GULBRANSON

LEAD CARP:

BEAU HALE

DRAWN BY:

SHAUN RENFRO

SHIP DATE:

11/15/2017

LOAD-IN DATE:

11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

30 WHAT IS A
CORE KIOSK

OVERVIEW

SHEET IDENTIFICATION

ID 30.00
Z30.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


: -
| | r I @1/4" THRU HOLE (x4) 2 Studeo, ne.
‘ 6900 N. CENTRAL PARK AVE
LINCOLNWOOD, L. 60/12
— D @ - 1 3 WWW.RAVENSWOODSTUDIO.COM
(i ) 1y
N _
SECTION A-A CLIENT
SCALE 1-1/2" = 1"-0" Y + CONSORTIUM FOR OCEAN
Y LEADERSHIP
. J‘ 1201 NEW YORK AVE NW #420
- 1u 1u 1n 1n WASHINGTON, DC 20005
i * f I - 28 - 15 - 28 = 8 P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG
8" ‘ \ 8"
role %
o (o]
e T - TOP O O DESIGNER
o
T | T- @1/4" THRU HOLE _
1 | * w/ COUNTER SINK | u ‘ I
6" 4o FOR #10 FLAT HEAD SCREW
/ (x4) CREATIVE
J_ ‘ 6900 N. CENTRAL PARK AVE.
- EP\ ‘ ; ; il ‘ O LINCOLNWOOD, IL 60712
‘ ] PROJECT
Ly A A i
2"
<-I\ — " — :
1/8" ALUMINUM PLATE ! !
69" 53 |of 53" - 6" — = i
| ' @ 1/8" ALUMINUM PLATE o = = ! U)
—_— |
M
I’ 16GA ALUMINUM PLATE ﬂs\ CORE KIOSK - HOLSTER BACK PLATE suip: O = O
i \w ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" A L i
| | | | 1 <
| 42 \ / | | — X
T | | o O |
1, } \ % A Z
i \ h 24| l - = W
: 0 Ty
\ | r ‘ [
T 30°" | | || L1 L || L1 D <>E :
| v =G o 1O
I I — — |
| ; R ) ; o D NV 0V - 5" — O = !
| Y PR RIVET 2l ! ( >
8" | 8" 16 (McM-C #97482A273) RIGHT 1 FACE PLATES FRONT I
FRONT (x2) 3" 1/4" ACRYLIC . ] |
PN ' o r (CNC) (x2) c !
\—’ B ‘ ‘ :
e s T
—2f~ == @ V& ISSUE
" YAl GAP
~ 12— 7% m INTERACTIVE - HOLSTER BUILD 1 \ y ( ]) MARK | DATE | DESCRIPTION
\w ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" L f SMR | 09/22/17 | FOR REVIEW
SECTION B—B FRONT RIGHT i i . oA 4" MAGNET / /// ‘]* ‘\‘ \\\\ \\ SMR | 11/02/17 | APPROVED TO BUILD
- "= “O" e
SCALE 1-1/2"=1'-0 W (KJM #B84X0) (x2) J/ } } A\N
/A ALIGN POLARITIES //// | ‘ N
D
o) ; /] L W\
m CORE KIOSK - INTERACTIVE  assemsie 1 o L S NG 1 \
\w ORTHOGRAPHIC PROJECTION SCALE: 1 1/2" = 1'-0" s1n 33" 5, é i /@ (McM-C #6138K650) t/ r/ \\\1 { E
2 p 8 (x1) i 1
GRAPHIC PANEL \ //// MANAGEMENT
G-EX.01-06 g " 1/4" UHMW WASHER \ " — 4 - |
3/8" SINTRA ——= AR (McM-C #95649A232) (x2) \ | N o /7 / PROJECT NO. 4831
N o o A\ ) \\ W | | /7 / PROJ. MNGR:  JON GULBRANSON
® A\ < COMPASS FACE \ AN | | p // / / LEAD CARP: BEAU HALE
ST o MAGNETIC CORE INTERACTIVE o o * A\ 3/16" SINTRA (x2) \ \\\\ L J P / DRAWN BY: SHAUN RENFRO
o ' A Y - SHIP DATE: 11/15/2017
\ X \ v /7 93" LOAD-IN DATE: 11/15/2017
#10-24 NYLON LOCK NUT < 8 ({ D PLOT DATE:
P (McM-C #90631A011) (x4) -
HOLSTER o N - SCALE
HOLSTER I 10-24 x 1" BINDING BOLT
10-24 x 02" BACK PLATE (McM-C #99637A306) (x7) \ | AS NOTED
FLAT HEAD |
MACHINE SCREW |
(McM-C #92210A247) SHEET TITLE
4
" Q ® l\ BUTTON HEAD BOLT 30 WHAT IS A
MAGNETOMETER | : (McM-C #92049A628) (x4) | CORE KIOSK
. P | INTERACTIVE
, - = 3%" & PARTS
‘ P
!I V N 3/8" WASHER | 1,
(McM-C #92141A031) (x4) | @' THRUHOLE
@1/16" WIRE ROPE <>/
w/ THIMBLES x SLEEVES 7 ' Y
L - C
—— dn | " —— Tu -
TIE DOWN RING Qi ° 2 i 2 SHEET IDENTIFICATION
(McM-C #33815T510) N FRON RIGHT
SECTION C-C |D 30 OO
SCALE 1'-0" = 1'-0" .
"o INTERACTIVE ssseusie 1 s CORE KIOSK - INTERACTIVE  assewsic s o6 CORE KIOSK - INTERACTIVE  ssseunie 1
@ ISOMETRIC VIEW NOT TO SCALE \w EXPLODED ISOMETRIC NOT TO SCALE \w ORTHOGRAPHIC PROJECTION SCALE: 1"-0" = 1'-0" 2 3 O O 2
| |
S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


INSET LID ATTACHED w/

10-24 x 3/4" BUTTON HEAD BOLT (x3)

Eu

(16

— — 27 |
2
10-24
E——
H IS i A
H
H
53" H
H
H
s H
N/
AV
H
N/
5 H
K
N/ Il
/AN i
5 i
X H
I
) H
4816 l
K
2 H
o
X H
I
H
N/
5 H
S
D
§=% H 46"
AN
5 i H
AV
H
N/
V‘
Y |
o
2 H
K
5 H
H
TAN
395" |
}V
o
2 H
K
5 H
AV
N/
X H A
K
Y |
o
2 H
i
5 H
AV
N/
% H
N/
5 H
X
N/
2 H
K
K 3 H n
£ s 30150 : 33
X 16 I
K
Y I
}V
5 H
AV
H
N/
5 H
}V
= H
AV
}V
5 H
V‘
H
N/
AV
5 H I
AN
Y I
N/
TAN
222" |
, 1
X 8 I
5 H
N/
TAN
Y I
K
5 H
AV
H
P H 20°
K
% |
NN/
TAN
5 H
AV
H
N/
5 H
K
Y I
o
X H
I
% H
AN
N/
5 H
X
[ N/ Il
/AN i
s i
X H
Y
H
N/
5 H
@ !
n
§ —_—
H
H
H
S I | I R I A | | I I |
T» °
13" V/ISIBLE
4
] ——
———
SECTION B-B
SCALE 3" = 1'-0" FRONT

~my

:

b

T

444444;%%;

T

;%%L444444

5 I

524"
VISIBLE|| |

511

oo

444444J%%L

44%2444444

:F

! LM@E

RIGHT

BUILD 1

30.03

ORTHOGRAPHIC PROJECTION

@ INTERACTIVE - MAGNETIC CORE

SCALE: 3" = 1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG

YA

BUILD 1

30.03

" —

NI~

N ——

ISOMETRIC VIEW

/o2 INT - MAG CORE
\3003 )/

ol

o=

%&5&4
%

F 12" VISIBLE 4

SECTION A-A

SCALE 1'-0" = 1'-0"

NOT TO SCALE

3/8"-16 CAGE NUT
(McM-C #90955A129)

10-32 x 1/4" OD x 7/8" STANDOFF
(McM-C #91125A468) (x8)

1"OD x 3/16" MAGNET
COUNTERSUNK FOR #10 SCREW
(KIMAGNETICS RX033CS-S) (x3)
(KIMAGNETICS RX033CS-S) (x3)

10-32 x 1/4" OD x 7/8" STANDOFF
(McM-C #91125A468) (x6)

10-32 x 3/4" FLAT HEAD MACHINE SCREW

(McM-C #92210A304) (x8)
GRAPHIC G-EX3.01-07

3/8" SINTRA \

N

1/8" ACRYLIC \

. 10-24 X 3/4"
o BUTTON HEAD BOLT
> (McM-C #92949A245) (x14)
®
o
®
12
®
12
®
2
Q)
Q
o
o 5
- b2

1"OD x 3/16" MAGNET
COUNTERSUNK FOR #10 SCREW
(KIMAGNETICS RX033CS-S) (x3)
(KIMAGNETICS RX033CS-S) (x3)

BUILD 1

30.03

3/8" x 3/4" x 1/8" WA ALUMINUM U-CHANNEL
(McM-C #9001K45)

—

QO —

EXPLODED ISOMETRIC

+ - =
O A |
I — ]
S —
TOP
+ ) a5
I N o
S —
FRONT

@ INTERACTIVE - MAGNETIC CORE

INSET LID
1/2" ALUMINUM PLATE

NOT TO SCALE

ISOMETRIC

NOT TO SCALE

BUILD 2

30.03 / EXPLODED ISOMETR

IC

@ INTERACTIVE - MAGNETIC CORE LID

SCALE: 1'-0" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

J E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

IlLl|::i
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

POP UP / DRILL DOWN
TRAVELING EXHIBIT

CORE KIOSK

ISSUE

MARK | DATE | DESCRIPTION

SMR | 09/22/17 | FOR REVIEW

SMR | 11/02/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

30 WHAT IS A
CORE KIOSK
INTERACTIVE
MAGNETIC CORE
& PARTS

SHEET IDENTIFICATION

ID 30.00
Z£30.03



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


SECTION

A-A

SCALE 3" = 1'-0"

30.04

ISOMETRIC VIEW

NOT TO SCALE

“os " ARTIFACT CASE assewee 1
\3004)

Bu
916

—
===
=i
Y
=t
|~

FRONT

i ®
i
133"
24,
”
[ ﬁ '
|
13,
- 16 -

RIGHT

/o, CORE KIOSK - ARTIFACT CASE nssevse 1

30.04 / ORTHOGRAPHIC PROJECTION

INSET CAP
1/2" ACRYLIC
(CNC) (x2)
SHIMS
1" PLASTIC
(CNC)(x3)
FACE PLATE ARTIFACT
1/2" ACRYLIC

10-24 x 3/4"
BUTTON HEAD BOLT
(McM-C #92949A245) (x14)

SCALE: 3" = 1'-0"

OVERVIEW PANEL
3/8" SINTRA

CASE
BRACKET

ARTIFACT HOUSING

3/8"-16 x 1 1/4" BUTTON HEAD BOLT
(McM-C #92949A626) (x4)

P — 0|
@
O O

2\ CORE KIOSK - ARTIFACT CASE  assemsie 1

o

BACKER PLATE

"5 CORE KIOSK - ARTIFACT CASE assewse 1

30.04 / EXPLODED ISOMETRIC

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG

NOT TO SCALE

1/8" STEEL
N

BACK

3/8"-16 NYLON LOCK NUT
(McM-C #91831A127) (x4)

O
LD\@/(]L
+%--<%
et 6" —

ISOMETRIC VIEW

BRACKET
1/8" STEEL PLATE

NOT TO SCALE

1/8" STEEL PLATE

30.04

1/4" x 3/4" STEEL BAR
(McM-C #8910K139)

SHIM
1" PLASTIC
(CNC)

4" x 1/8" WA STEEL TUBE

SECTION B-B

SCALE 1'-0" = 1'-0"

ORTHOGRAPHIC PROJECTION

SCALE: 3" = 1'-0"

" CORE KIOSK - ARTIFACT CASE asseuse 1
N

W e
4 2 +
v i
=
4r \
j 31" 4" 5§"
B
wzeze NI
J
f

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

POP UP / DRILL DOWN
TRAVELING EXHIBIT

CORE KIOSK

ISSUE

MARK | DATE | DESCRIPTION

SMR | 09/22/17 | FOR REVIEW

SMR | 11/02/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

30 WHAT IS A
CORE KIOSK
ARTIFACT CASE

SHEET IDENTIFICATION

ID 30.00
Z£30.04



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


OBSCURE
MAGNETIC
CORE
INTERACTIVE

@3" OBSCURE

STANDOFF CAPS
(x6)
DOUBLE SIDED GRAPHIC ON 3/8" SINTRA
REVERSIBLE. FLIPS ON HORIZONTAL AXIS
A
;" OBSCURE ;" OBSCURE A \
BY STANDOFF CAPS STANDOFF CAPS 71" OBSCURE
(x5) (x5) BLEED MAGNETOMETER 278" SINTRA
AN A \ & HOLSTER
< N W i 1 A
| | B N /
| | | | | | L
| |
| | | | | |
| | ‘ ‘
‘ ‘ 547"
| | BLE?ED | |
| |
| | | | | |
| | | | | |
59" | |
OBSCURE OBSCURE VISIBLE | | g6 | |
ARTIFACT ARTIFACT & CUT | | | |
CASE CASE .
‘ 59u ‘ 59" ‘ } } /// \\/ ‘
| | BLEED | BLEED | | o . | ;
| | \ 52" " "
| L -+ | cUT | | 3/16" SINTRA %y
| \ \\ // 13 \ \ THRU
| | 4913 HOLE
| | | | Y g | 16
| | | | g R | /
| | |
A | | | ‘ ‘ ,
| | | | | ,
| |
B | .
| \ \ | | \ 35..
| | | 8
| | | | | J | ™ VISIBLE ™
| | | | | & CUT
} } H | | = 5'BLEED —
G-EX3.01-03 | visis G-EX3.01-04 | vsis o b o] )
_ _ -} 'VISIBLE - - -} 'visIBLE 530" (O | u 7 8
' & cuT ' & cuT 8 | } } L | VISIBLE G-EX2.01-07A
H
| | S| \ \
230 | | H : | |
8 | | H .
| | | | | H o 3/16" SINTRA )"
| | | } } | [ THRU
| | U U - HOLE
| | \ 7 | | ,
| | | | |
| |
| | | | | | U J
| | | | | | /
| | A
| | | | 350
| | 8
| | y | | ™ VISBLE ™
‘ ' ‘ ‘ } } 4011 & CUT
| | | | | | = 5'BLEED —
| |
o \ \ G-EX2.01-07A
| | | | | |
| |
| | | | | |
———— 51" — - | | ‘ ‘
2 | | | |
| |
| | | | | |
R28]" VISIBLE & CUT ‘ R28}" VISIBLE & CUT ‘ ‘ | | ‘
~ ! L] ' |
2 > S S
R29," BLEED ) ' R29}" BLEED > ' .
\ . ' \ . ' . | 4
- - 1 VISIBLE
—- 281" VISIBLE & CUT — —- 281" VISIBLE & CUT — 2% -
2 2 \ / CUT
- 304" BLEED — —- 304" BLEED — 4dr
\ BLEED
! — !
' ~ - o —~ _ _
o1, OVERVIEW PANEL - LIGHT CONTENT suios "o . OVERVIEW PANEL - DEEP DIVE BUILD 1 G-EX3.01-07
@ FRONT VIEW SCALE: 3" = 1'-0" @ FRONT VIEW SCALE: 3" = 1'-0" 2~
GRAPHIC G-EX3.01.03 GRAPHIC G-£X3.01-04 ,, ~os  CORE INT - CORE & MAGNETOMETER suios
3/8" SINTRA 3/8" SINTRA 12" VISIBLE & CUT \w FRONT VIEW SCALE- 3" = 10"
FRONT SIDE OF OVERVIEW PANEL BACK SIDE OF OVERVIEW PANEL - 4 BLEED _| I G 30107 THRU G.EX3.01.078

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG

3/8" SINTRA & 3/16" SINTRA AS NOTED

BUILD 1

30.05 / FRONT VIEW
GRAPHIC G-EX3.01-06
1/4" SINTRA & 3/8" SINTRA AS NOTED

/o3 CORE INTERACTIVE - GRAPHIC
N

SCALE: 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

TRAVELING EXHIBIT

POP UP / DRILL DOWN

CORE KIOSK

ISSUE

MARK | DATE | DESCRIPTION

SMR | 09/22/17 | FOR REVIEW

SMR | 11/02/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

30 WHAT IS A
CORE KIOSK
GRAPHIC
TEMPLATES

SHEET IDENTIFICATION

ID 30.00
£30.05



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


(><)

0000-1_8 ALUMINUM PLATE-BACK HOLSTER.dxf

CUT (1)

C] )
o o 0
9 0,
C] )
o o 0
o o,

0000-1_4 CLEAR ACRYLIC-METER FACE.dxf

CUT (1)

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\30 WHAT IS A CORE KIOSK\30 WHAT IS A CORE KIOSK 103117.DWG

CUT (1)

CUT (1)

(NN

AN

A=
—]

CUT (1)

0000-1_2 ALUMINUM PLATE-CORE LID.dxf

0000-1_8 STEEL PLATE-CASE BRACKET.dxf

ab

JAD

CUT (1)

0000-1_2 CLEAR ACRYLIC-FRONT LID.dxf

0000-1_2 BLACK ABS-HANDLE.dxf

/o, CORE KIOSK - PARTS

30.06 / FRONT VIEW NOT TO SCALE

LL INFORMATI

ON

©

2017

RAVENSWOOD STUDIO, INC.

:2 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

POP UP / DRILL DOWN
TRAVELING EXHIBIT

CORE KIOSK

ISSUE

MARK | DATE | DESCRIPTION

SMR | 09/22/17 | FOR REVIEW

SMR | 11/02/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

30 WHAT IS A
CORE KIOSK
PARTS

SHEET IDENTIFICATION

ID 30.00
Z£30.06



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


INTERACTIVE WEIGHS 100 LBS
WATER TO MAX FILL WEIGHTS
101LBS

TOTAL =200 LBS

SECTION A-A

SCALE 1-1/2" = 1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\40 TSUNAMI PERSPECTIVES\40 TSUNAMI PERSPECTIVES 112817.DWG

= i ]
- A
| |
| |
- 1

|

4

O
SHELF  TANK

V

7777777 ;W ?jﬂ?%%ﬁqggﬁﬁ
IE S )8
I;— C Jooedl]

I= =83

n

i

|

|
I}
H
i
M

TOP

(

— A
N /
|
|
|
|
= 47} GRAPHIC -
|
452" TANK —
3/8" SINTRA 8
- 9%" »
| |
112" X 11/2" ALANGLE | hOSesENawL e 2l
BARREL BOLTS |
;i XXX XXX XXX 21" |
GRAPHIC |
BOLT TANK TO SHELF o :
FROM UNDERNEATH === |
: L
gy faiﬁ T ————— —————————— ]|
Do o o o N I £

I
-
Sm— oo I3 R

B/\ T T

Co

0

FRONT

1 TSUNAMI PERSPECTIVES KIOSK

BUILD 1

A
[ E@ =
A
30"
| |

BUILD 1

Z740.01

%

0.

w ORTHOGRAPHIC PROJECTION

SCALE: 1 1/2" = 1'-0"

RIGHT SIDE

02 " TSUNAMI KIOSK
\00t)

ISOMETRIC VIEW NOT TO SCALE

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

iz E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

K

T
= !
=2 | 8
S LT
>x<
él'ui'_
T2 | E
g | @
:.><>E;§
al I
SO

1

ISSUE

MARK | DATE | DESCRIPTION

SMR | 11/27/17 | FOR REVIEW

SMR | 11/28/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON
LEAD CARP: BEAU HALE
DRAWN BY: SHAUN RENFRO
SHIP DATE: 11/13/2017
LOAD-IN DATE:  11/13/2017
PLOT DATE:
SCALE
AS NOTED
SHEET TITLE
40 TSUNAMI
PERSPECTIVES
KIOSK
OVERVIEW

SHEET IDENTIFICATION

ID 40.00
Z40.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


;o = | &
¥ S SOIM 1Tweuns : 2 Q\
S| |z : — oE Z| 2 ¢ o -,
€0 I =zuw (] w " " o= LLd = = ()
el ¢ Zg n'd 5 E g S ENSI L] g 5 O O
=9 O uw& 8 ||| |=————m—em— e e =2 5T oo —_ = = .
W et E I LLJ HIr 5 g i|z232222 5 S O .
50z 2 xoO Z 3 A % 2 9E 5 | <O L i
S=Ef - X == (O N T p ) £l <&
Zz = z = | Wl @ Z LW =
| =] 398 O fg | L 1I9IHXd DNI 1dAVHL MINE .. ; " EHEI = <
oW x229 ") ¥ =mo?2 | O D (58 Z28ssua < | F|l0nDHpI -l 0O
| 3| 84=k L1l 4 NMOd 1711Hd/dN-d0d NI <L|2235z3z2 3|3 S EEOL i
4H Bz jtceszsly) Blchiol =
@) QU= A al IAan Mmmmmwmms hl ALY = n
2
s
L 2
- ~
O S
Z 2
< :
>
0|z = =
— =
5 7] %
@ o %
= 2
S S
i =
AIﬂ_ =
L 3 =
1 -
LL]
1T «
) il 5
W ol
1 %
— N
= Neo
mAu LHM <t
I
= N
LL] O *
_m | LL]
= =
_ S
o
N ° A
3 o
s G
< R
N
Sz o
=z I
>
=3 0
e
UW
N3
= 2
S
S|g
N
X
P
<
T
Z — | =
= L <
n_m m w —
- 5 =
%) X ™
= w R o
| - .
@ uw = < = S
= 2 2 ey &
W |
oLg - <L LL
TOFE Q Y —1
WOH D) SH E
T E o > = T
i T ZZ
r MN = < o0 V)
=) o ] nw
OO 5 oI LL]
QI < S N
\ 5
« | M#ngﬂ#MuL A L <
5 I I : A - ad
N N : A . LLI
_ \ 12 Indl | T —
5 I I : - =
Q Il Il : ] —
.3 I : _
=y I I : - |
4z I I : . % 5
z ®
IF ! | =g
T2 ¥ I I X3
T - I I | - —
= I I | - O
e I I : | = g
A e =
X O I I | N | <z
S I I : - Z
[ [ | - D) Q
[l [l : ] V) E
< I I : - - X
I I .
\ I I : Ai if N
I I ==
I I : - S
I I : -
I I
I I : ﬁ ﬁ
I I i : — o
: : : : : | . 0 ' ol Z z
< C 0 H 0 N~
= 1°) 1°] ¥ s O ) (I O 5
Il I | — . Y -
wn
o o : N L g
: N =
I I o
: N 0
I I &
: N @
I I x
I I : ﬁ ﬁ a
< I | M
Ho 5
A I | 7
I I Z
: N =
I I 2
: N =
I I : - 2
I I : - - z
I I : & - 3
I I o
: N 2
I I i
o o | - o
% I I | I =
T : N 2
I I =
: N 2
I I 2
: N 5
I I S
: N 2
I I Q
: N 5
I I : - S
I I =
: N S
I I 8
: N S
I I : - J
| S e Ll m
i I I : . ﬁ ﬁ 8
v ,HH%@\HMHHF\FHHHJ]P T F 5
4 | ‘7 ““““ ﬁlﬁ ‘‘‘‘ 7‘ E——, < * [T < %
10,04 1Lu4 = 10,04 = 10,04 —— ‘|4 m
= = = <C
(o] NN ~ L
€ = Ol e - :
(@)
[
@)
L
=
2
T
e
(@)
n
pd
(@)
S
wn
-
L
—I
zZ
L
|
0
wn
Z
5
T
<
x
Ll
o
S
n



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


OBSCURE HAND WHEEL OBSCURE ACRYLIC TANK OBSCURE HAND WHEEL OBSCURE ACRYLIC TANK
‘ ( 4 ﬂ,\/ N\ ‘ ( /Z N\
| - - o : | | - - e : |
l | | | | | | |
23" ‘ ‘ 23" ‘ ‘
BLEED ‘ \ \ ‘ BLEED ‘ \ \ ‘
| | | |
| | | |
| | | | | | | I
| | | | | | | |
| 2 - | L -
21" | | 21" | |
VISIBLE | | VISIBLE | |
& CUT | | & CUT | |
| | ‘ | | | ‘ |
| | | | | | | |
| | | |
| | | |
| | | |
| | | |
| | | | | |
| | ‘ | | | ‘ |
| | | |
! \. 1 | y Y 1 | )
Y N e / ' N e /
- 47," VISIBLE AND CUT - 47," VISIBLE AND CUT -
- 495" BLEED - - 495" BLEED -
/o, OVERVIEW PANEL - LIGHT CONTENT w1 /o2, OVERVIEW PANEL - DEEP DIVE
w FRONT VIEW SCALE: 3" = 1'-0" w FRONT VIEW SCALE: 3" = 1'-0"
GRAPHIC G-EX4.01-02 GRAPHIC G-EX4.01-03
3/8" SINTRA 3/8" SINTRA
FRONT SIDE OF OVERVIEW PANEL BACK SIDE OF OVERVIEW PANEL
PLACEMENT INTERACTIVE MECHANICS PLACEMENT SPRINGBOARD PLACEMENT SPRINGBOARD
135" 135"
BLEED | | BLEED | |
| T T~ oo = | | C o T T T T |
n / \_/ N //,,/f//”’l/::::"”////// n
VISIBLE / e T VISIBLE
& CUT r\ H - & CUT
| \ 1 f R | | |
| N7 e | | |
R
! o ! I
- 45%" VISIBLE & CUT ~ 9" VISIBLE & CUT - =
- 47g" BLEED ~  11,"BLEED =

Z40.03 / FRONT VIEW SCALE: 3" = 1'-0"
1/4" ACRYLIC 2ND SURFACE PRINT

@ TSUNAMI KIOSK - FRONT TANK GRAPHIC wae 1

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\40 TSUNAMI PERSPECTIVES\40 TSUNAMI PERSPECTIVES 112817.DWG

Z240.03

FRONT VIEW
1/4" 2ND SURFACE PRINT

SCALE: 3" = 1'-0"

@ TSUNAMI KIOSK - RIGHT TANK GRAPHIC  wake 1

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

; E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

oSk

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

Tsunami

ISSUE

MARK | DATE | DESCRIPTION

SMR | 11/28/17 | FOR REVIEW

SMR | 11/28/17 | APPROVED TO BUILD

SMR | 01/17/18 | REVISED GRAPHICS

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/13/2017

LOAD-IN DATE:  11/13/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

40 TSUNAMI
PERSPECTIVES
KIOSK

GRAPHIC LAYOUT

SHEET IDENTIFICATION

ID 40.00
Z40.03



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


I | — p—
| |
| |
| |
| |
9%" 85" | |
| | )
| | 01/4" THRUHOLE (8) — | @5/8" CLEAR CAST ACRYLIC ROD 8-32 THREADED INSERTS (x2)
| | \
| |
| | / v
o —— Y DIAMOND POLISHED EDGES - V]
P 8" 50 | 5.
8 8 - 3 _ 8
et o5" — 8
8 SLOT
FRONT RIGHT
TOP
—— 1%" g 55" — 11" o
+ m TSUNAMI KIOSK - TOP TANK BUILD 1 @ TSUNAMI KIOSK - STAND OFF BUILD 5
| | | | | | W ISOMETRIC VIEW NOT TO SCALE W ISOMETRIC VIEW NOT TO SCALE
on
| | i i
1 ‘ © /\ (o] ‘ 1 —_— |
S, o a a
| | N N
¢ | | 2"
| | | | | |
. .. LY ..
gg" et gé" —
| et gg" —
FRONT RIGHT
m TSUNAMI KIOSK - TOP TANK BUILD 1
@ ORTHOGRAPHIC PROJECTION SCALE: 3" = 1'-0"
HINGED LID
1/4"-20 THREADED INSERTS (x9) r 1
fffffffffffffffff S ———
| f DIAMOND POLISHED EDGES <
| WATER TIGHT }
91" 8" o o o * \ |
2 72 | * S |
} } | |
| 4’ | } } SIMPLE LOCKING MECHANISM ON BACK
| + X TO PREVENT TAMPERING
————————————————— S 2 |
B |
|
" - — ‘
TOP o N
/ HINGE LAYS FLAT N
ON TANK \
/ WHEN OPEN \
. / \
95" + 36" - |
I I [ ‘ [
F |
| | \
| |
| | \
| | \ HINGE ON ENTIRE FRONT
| |
105" } } N o 2%..
1) | | N BOTTOM IS 1" THICK
| | N AN
|< 44g" ﬂ T N— - 82" —
n n n ! i i i
A, .. .. 0. ..
ey 45g" —
FRONT RIGHT
/s, TSUNAMI KIOSK - BOTTOM TANK BUILD 1 BUILD 1

SCALE: 3" = 1'-0"

Z40.04 / ORTHOGRAPHIC PROJECTION

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\40 TSUNAMI PERSPECTIVES\40 TSUNAMI PERSPECTIVES 112817.DWG

Z40.04 / ISOMETRIC VIEW NOT TO SCALE

“ o, TSUNAMI KIOSK - BOTTOM TANK
\240.04)

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

oSk

TRAVELING EXHIBIT

POP-UP/DRILL DOWN

Tsunami

ISSUE

MARK | DATE | DESCRIPTION

SMR | 11/27/17 | FOR REVIEW

SMR | 11/28/17 | APPROVED TO BUILD

SMR | 11/29/17 | REVISED STAND OFF

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SHAUN RENFRO

SHIP DATE: 11/13/2017

LOAD-IN DATE:  11/13/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

40 TSUNAMI
PERSPECTIVES
KIOSK

ACRYLIC TANKS

SHEET IDENTIFICATION

ID 40.00
Z40.04



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


1 STORIES FROM THE CORE

Z70.00 / EXPLODED VIEW NTS

Py 3-16x11" BUTTON-HEAD SOCKET CAP

. SCREW (McM-C #92949A626) (x20)

MONITOR POWER CABLE CLIPS HERE

3_16x11" BUTTON-HEAD SOCKET CAP
SCREW (McM-C #92949A626) (x12)

FRAME AND FABRIC BY OTHERS

SCREW-IN MOUNT CABLE
HOLDER (McM-C #7572K24) —|

MONITOR POWER CORD \

a" STEEL BEZEL

ELO 4202L MONITOR

_— TOPEPOP USB
WIRED SOUND BAR
(OR SIMILAR)

C

©

SCREW (McM-C #92949A540)

1"-20x3" BUTTON HEAD

I".20 EASY-ALIGN WELD
NUT (McM-C #90955A126)

DETAIL C

SCALE 3" = 1'-0"

MONITOR POWER CHASES INTO
BASE OF FABRIC STRUCTURE

SECTION B-B NOTES:

e PAINT TREATMENT P1 COLOR - SEAL FOR EXTERIOR FINISH
e ALL VISIBLE HARDWARE STAINLESS STEEL

SCALE 1-1/2" = 1'-0"

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\70 STORIES FROM THE CORE\70 STORIES FROM THE CORE.DWG

S

SECTION A-A

SCALE 1-1/2" = 1'-0"

T~

2 STORIES FROM THE CORE

Z70.00 / ISOMETRIC VIEW

—m— B
(1 )
N [
\
\
\
\
\
\
e
\
\
| | -
|y 36" —
\
- ‘ -
\
|
\
% D
\
N P
L B
et 49" —

/"3 STORIES FROM THE CORE
\z700) |

Z70.00 / FRONT VIEW SCALE: 1-1/2" = 1'-0'

NTS
A
" AL CUT-OUT SWEEP
lu
84
©
©
©
©
' @ @ @ P
42" —

/4 STORIES FROM THE CORE
\z700)

Z70.00 / SIDE VIEW

SCALE: 1-1/2" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

\/\2 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER
luci
CREATIVE

PROJECT

o
=
— O
=@ O
A T ':',__J
X =
— L
T O =
N =z O
~— ] E
LY o
< X o
O = %
0 —
N
ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/14/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

STORIES FROM
THE CORE
KIOSK
OVERVIEW

SHEET IDENTIFICATION

Z70.00



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


12" PUSH IN RUBBER

GROMMET (McM-C #9307K75) —| \

VENT SLOTS \
o

SPEAKER SLOTS

Z70.01 / FRONT ISOMETRIC VIEW NTS Z70.01 / REAR ISOMETRIC VIEW NTS
1/8" BENT STEEL PAN

=
N

1 MONITOR BEZEL @ MONITOR BEZEL

1/8" BENT STEEL PAN

48"

1"-20x3" BUTTON HEAD SCREW (McM-C #92949A540)

- 1"

_

12"

g - 24"

i Y

BACK PLATE

FRONT VIEW
1/8" STEEL PLATE

SCALE: 1-1/2" = 1'-0"

Ce
N

EN[OV)

i
F 10" — = 10" — = 10" — == 10" — =

(o] o o

4‘7y

Z70.01 / TOP VIEW SCALE: 1-1/2" = 1'-0"

/"3, FRONT PAN
\z7eot)

1/8" BENT STEEL PAN

= E
|
|
KE)
%“-16 EASY-ALIGN WELD
NUTS (McM-C #90955A129) \ . |
|
\\@ [t 36"
|
|
L = E
SECTION E'E — 48"

SCALE 1-1/2" = 1'-0"

FRONT PAN

Z70.01 / FRONT VIEW SCALE: 1-1/2" = 1'-0"

/4 FRONT PAN
\z7oot)

1/8" BENT STEEL PAN

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\70 STORIES FROM THE CORE\70 STORIES FROM THE CORE.DWG

SIDE VIEW
1/8" BENT STEEL PAN

SCALE: 1-1/2" = 1'-0"

(s
N

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

~ 13" PUSH IN RUBBER
/ GROMMET (McM-C #9307K75)

1"-20 EASY-ALIGN WELD

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

NUTS (McM-C #90955A126)

PROJECT

1"x1"x3" STEEL ANGLE

SECTION D-D

SCALE 1-1/2" = 1'-0"

POP UP / DRILL DOWN
TRAVELING EXHIBIT
STORIES FROM THE CORE

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/15/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

STORIES FROM
THE CORE
KIOSK

MONITOR BEZEL
DETAIL

SHEET IDENTIFICATION

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

Z70.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


BREAK LINE

— " -

A
20"
36"
!
3
36" r 16
a7y —_—— = 4

1 FRONT BEZEL

Z70.02 / FLATENED VIEW SCALE: 3" = 1'-0"

1/8" STEEL - WATER JET CUT
BEND ONLY - CORNERS WELDED AND FINISHED BY RSI
DIMENSIONS SHOWN ARE *INTERIOR* SIZES

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\70 STORIES FROM THE CORE\70 STORIES FROM THE CORE.DWG

472

916

Z70.02 / FRONT VIEW

/2, BACK PANEL
\z700z/

1/8" STEEL - WATER JET CUT

SCALE: 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202.232.3900
WWW.OCEANLEADERSHIP.ORG

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

POP UP / DRILL DOWN
TRAVELING EXHIBIT
STORIES FROM THE CORE

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/15/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON
LEAD CARP: BEAU HALE
DRAWN BY: SLG
SHIP DATE: 11/15/2017
LOAD-IN DATE:  11/15/2017
PLOT DATE:
SCALE
AS NOTED
SHEET TITLE
STORIES FROM
THE CORE
KIOSK

BEZEL PARTS

SHEET IDENTIFICATION

Z70.02



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


iz E Studeo, Tuc.

NOTES: 6900 N. CENTRAL PARK AVE
° PAINT TREATMENT P1 COLOR - SEAL FOR EXTERIOR FINISH LINCOLNWOOD, IL. 60712
e SAND/EASE ALL EDGES OF INTERACTIVE WIW RAVENSWOODSTUDIO.COM

e ALL VISIBLE HARDWARE STAINLESS STEEL CLI ENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202-232-3900

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

SECTION B-B
/1 CLIMATE CHANGE KIOSK SCALE T =T /2, CLIMATE CHANGE KIOSK
\280.00) \Z5000)

Z50.00 / NW ISOMETRIC VIEW NTS Z50.00 / NE ISOMETRIC VIEW NTS

TRAVELING EXHIBIT

POP UP / DRILL DOWN

() FRAME AND FABRIC BY OTHERS A

CLIMATE CHANGE KIOSK

| |
\ ISSUE
1 MARK DATE DESCRIPTION

o) 0 SLG | 09/08/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

|

|

|

3D MICROORGANISM MODELS |

o)

3" SINTRA w/PRINTED GRAPHIC \
|

|

96%" q i PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

69" g4 ln - SHIP DATE: 11/15/2017

2 LOAD-IN DATE:  11/15/2017

CORE SAMPLE GRAPHIC
INTERACTIVE SPINNER

% PLOT DATE:

SCALE

AS NOTED

L")

SHEET TITLE

W]

CLIMATE CHANGE
KIOSK
OVERVIEW

422"

S B ! . \. ! ! ! ! . <

e A SHEET IDENTIFICATION
SECTION A-A 1" AL BASE PLATE

SCALE 1-1/2" = 1'-0"

s CLIMATE CHANGE KIOSK "+ CLIMATE CHANGE KIOSK
) )

Z50.00 / FRONT VIEW SCALE: 1-1/2" = 1'-0" 750.00 | SIDE VIEW SCALE: 1-1/2" = 1'-0" Z 5 O O O
|

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\50 CLIMATE CHANGE KIOSK\50 CLIMATE CHANGE KIOSK.DWG ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


8-32xL" FLAT HEAD MACHINE SCREW (McM-C #91771A198) (x10)

ALUMINUM KNOB
(McM-C #61515K241) (x2)

Al

M

i
W inn
s

il | | |
DRILL AND TAP FOR 8-32x3" SET
SCREW (McM-C #92311A192) (x2)
8-32x2" FLAT HEAD MACHINE SCREW (McM-C #91771A196) (x10)
1n
; \ §" AL END PLATE (x2) 6  BACK PLATE  suip:
10-24x11" FLAT HEAD MACHINE SCREW (McM-C #90273A249) (x4)
@ TOP VIEW SCALE: 6"= 1'-0"
" AL PAD OUT (x2) 1/4" AL PLATE
" AL BACK PLATE
316 LOCKNUT W/EXTERNAL-TOOTH Z "
LOCK WASHER (McM-C #90675A031) (x4) =@ \, -~ AL SPACER (x2)
O NOTE: LAMINATE TWO ;" PLATES TOGETHER
3 16x11" BUTTON-HEAD SOCKET CAP SCREW (McM-C #92949A628) (x4) 1» AL COVER PLATE (x2)
8-32x1" PAN HEAD MACHINE SCREW WITH
LOCK WASHER (McM-C #95345A077) (x2) ﬂ 1" -
SPINNER DRUM (SEE SHEET Z50.02) I |
I — — —
% O . DRILLAND TAP
FOR 10-24 SCREW
@) g.ln €!
10-24x1}" BUTTON-HEAD SOCKET CAP Egllzl{_ ;Q)NISDC%%LJVN(TTE(E?INK
SCREW (McM-C #92949A249) (x10) 53" e ——
\ .
" SELF-ADJUSTING SPRING-LOADED 3 4 1
" CHAIN TENSIONER (McM-C #7332K11) 1 j' ©
@K I"x3" SLEEVE BEARING (McM-C #2706T310) (x2) !
%11" <—4 L 1n
2 2
- 105" —
/"1 SPINNER INTERACTIVE . BACK PLATE
@ EXPLODED VIEW NTS 7 BUILD 1
@ SIDE VIEW SCALE: 6" = 1'-0"
1/4" AL PLATE
iu
4 # & C oy ; ;
M ‘ ‘ 1 W“i M I M I r‘g'i H Lur‘k T T - I ]
L1 | | L L1 L |1 L [y L1 = J J
3. J 1, J 3. J L 1 i i
8 2 8 2 8 8
/"2 END PLATE ReR /4 PAD OUT ReR /s, SPACER ReR /10, COVER PLATE e
@ TOP VIEW SCALE: 6" = 1'-0" @ TOP VIEW SCALE: 6" = 1'-0" @ TOP VIEW SCALE: 6" = 1'-0" @ TOP VIEW SCALE: 6" = 1'-0"
1/2" AL PLATE 1/2" AL PLATE 1/8" AL PLATE 1/8" AL PLATE
DRILL AND TAP FOR 8-32 SCREW (TYP) SRILL AND TAE DRILL AND COUNTERSINK
8-32 SCREW (TYP) S FOR #8 SCREW (TYP)
1" 674
=™ DRILL AND COUNTERSINK /\ \.
FOR #8 SCREW (TYP) o B i 7 o |\
v A S T~ i 7 R2]
O 1" © R24
RZg" @*" j 7
4 R28|l ]
ot | DRILLAND TAP
4 FOR 10-24 SCREW + . o ;
0] on On
on In 4 4
o O 54 © 54
THESE TWO 11w
LEFT SIDE ONLY 1 —— 2
O 2"
(@) (@)
o C}i ' . © . ' ! © © 3
F 61" -— % F 51" -— L SZ" — L 51" -
| et gg" — | et 8%" — | et 8%" — | et 8%" —
/"3 END PLATE ReR /s PAD OUT ReR /"¢ " SPACER ReR /11 COVER PLATE e
@ SIDE VIEW SCALE: 6" = 1'-0" @ SIDE VIEW SCALE: 6" = 1'-0" @ SIDE VIEW SCALE: 6" = 1'-0" @ SIDE VIEW SCALE: 6" = 1'-0"
1/2" AL PLATE 1/2" AL PLATE 1/8" AL PLATE 1/8" AL PLATE

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\50 CLIMATE CHANGE KIOSK\50 CLIMATE CHANGE KIOSK.DWG

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE NW #420
WASHINGTON, DC 20005

P. 202-232-3900

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

POP UP / DRILL DOWN
TRAVELING EXHIBIT

CLIMATE CHANGE KIOSK

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/11/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE: 11/15/2017

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

CLIMATE CHANGE
KIOSK

SPINNER
INTERACTIVE
HOUSING DETAIL

SHEET IDENTIFICATION

Z50.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT
‘ CONSORTIUM FOR OCEAN
- A ) N : a g /s LEADERSHIP
" 1201 NEW YORK AVE NW #420
9 A 4 g 4 , " PRINTED GRAPHIC (x6) - EASE EDGES WASHINGTON DG 20005
A P. 202-232-3900
L
%/ = ° I EXTIRA (x6)
A (
% | [ % I" STEEL SHAFT DESIGNER
: @4 . ®
/ 3" EXTIRA END BLOCK I
UCI
I 6900 N. CENTRAL PARK AVE.
A LINCOLNWOOD, IL 60712
=3
vV
. J PROJECT
= q L
A .
' 4 a . N 9 B / 8-32 TEE NUT INSERTS (McM-C #90975A014) (x12) %
1" SHAFT SUPPORT (McM-C #57745K21) (x2) < — 8
- —
- 2%" — " — 2%" - 8-32X12" FLAT HEAD MACHINE ; M —
@) A'd
SCREW (McM-C #90273A201) (x4) = f
3" DELRIN CAM >< L
—1 (1] @)
- 144 -— " —1 =
4 8-32X 2" FLAT HEAD MACHINE SCREW (McM-C #90273A203) (x8) T 5 =
N = I
SECTION C-C /2 SPINNER DRUM ~ - O
SCALE 1'-0" = 1"-0 @ EXPLODED VIEW NTS % = |—||_J
<C <
O
O~ =
an —
O

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/11/17 | FOR REVIEW

D ﬁ 2%!!
%" PRINTED GRAPHIC

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

"EXTIRA _— |

SHIP DATE: 11/15/2017

NI=

LOAD-IN DATE:  11/15/2017

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

CLIMATE CHANGE
KIOSK

SPINNER DRUM
DETAIL

n —

" R 9" —

: il _ SECTION D-D

SCALE 1'-0" = 1'-0" SHEET IDENTIFICATION

250.02 / FRONT VIEW SCALE: 1'-0™ = 1'-0"

/"1, SPINNER DRUM
)
/50.02

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\50 CLIMATE CHANGE KIOSK\50 CLIMATE CHANGE KIOSK.DWG AL INFORMATION© 2017 RAVENSWOOD STUDIO. INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


REVERSIBLE
“ GRAPHIC DISC

S

Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN

LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

Tt DESIGNER
'\S"TBASI\IZDXCZ)FIS:ECUR'TY BALLS COLLECT
(LBLS19-12) AT BOTTOM ®
” “ DRILL AND TAP DELRIN INSERTS u C I
“ i o 1 “ IN TUBE FOR 2"-16 HARDWARE CREATIVE
q] ' : b 3" 16x2" BUTTON-HEAD SOCKET 6900 N. CENTRAL PARK AVE,
I : I CAP SCREW (McM-C #92949A632) LINCOLNWOOD, L 81712
3'-16x1;" BUTTON-HEAD SOCKET — 48" — m SEA FLOOR KJOSK
CAP SCREW (McM-C #92949A626) T
_ DRILL AND TAP DELRIN INSERTS - 49" | U JpPLODED VIEW NTS
IN FRAME
§ =
/2 SEA FLOOR KIOSK /3 SEA FLOOR KIOSK o LD 0
w TOP VIEW SCALE: 1-1/2" = 1'-0" w NE ISOMETRIC VIEW NTS O i O
FRONT ACRYLIC REMOVED FOR CLARITY
/1 SEA FLOOR KIOSK g X
w NW ISOMETRIC VIEW NTS - 41 -— — €5 s
10-24x1" BUTTON-HEAD SOCKET o Z Q
- X - §u
CAP SCREW (McM-C #92949A247) /4" EXTIRA MDF Q — C_I)
INTO 10-24 TAPPING INSERTS FOR 5" 1 O 1
SOFTWOOD (McM-C #92105A006) ; F 25" > R4 D =
A ﬁ —F - R [ <E <E
‘ - ™ * F o, - D_ m I—IJ
2" 7 4 ) a . AA O I_ U)
‘ : an
|
\ 4 q
a 4
" EXTIRA MDF >& PRINTED
2
‘ I ACRYLIC w/SECOND —_ GRADIENT ISSUE
| FRAME AND FABRIC SURFACE PRINTED GRAPHIC APPLIED e T haTe ToESCRIPTION
BY OTHERS GRAPHIC DETAI L B TO BACKING SLG | 09/01/17 | FOR REVIEW
INSERT BALL HERE - SCALE 6" =1'-0" SLG | 09/21/17 | REV FRONT GRAPHIC
@23" WHITE PLASTIC
—— 41" | \
| B
I 1 I g:%aan)
I\ ACRYLIC TRACK FOR BALLS «
: SO : e O MANAGEMENT
T TT @ PROJECT NO. 4831
L] L L 1x STAND-OFFS FOR PROJ. MNGR: JON GULBRANDSON
. 4%,, HH MOUNTING REVERSIBLE DISC CerD OARD:  BEAU MALE
DRAWN BY: SLG
F@ﬁ “ SHIP DATE:
] in 3" AL SUPPORT LOAD-IN DATE:
PLOT DATE:
47" | oll 47" 43" ' SCALE
] I I
° 551" | | . AS NOTED
o /I 2 q b ' 7
o n D 5 SHEET TITLE
i H 1 SEA FLOOR KIOSK
| — REMOVE BALL HERE - SPARE OVERVIEW
BALLS COLLECT AT BOTTOM |
© ( ] .
1AL
{ | ' ! = [ ]
b * ( é b €
® 8 n ) 1'x1"ALSUPPORTLEG ——
A —a ] I" AL BASE PLATE /
- 42" - 48" - - " RADIUS EDGES
| 49" - SHEET IDENTIFICATION
NOTES:
m SEA FLOOR KIOSK /;\ SEA FLOOR KIOSK SECTION A-A e PAINT TREATMENT P1 COLOR - SEAL FOR EXTERIOR FINISH
w SIDE VIEW SCALE: 1-1/2" = 1'-0" w FRONT VIEW  SCALE: 1-1/2" = 1'-0" SCALE 1-1/2" = 1'-0" *  SAND/EASE ALL EDGES OF INTERACTIVE

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

e ALL VISIBLE HARDWARE STAINLESS STEEL

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

Z60.00



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


1"

INTERACTIVE PANEL

1

£

TRACK 2

260.01,/ TOP VIEW SCALE: 1-1/2" = 1'-0"
TRACK 1
TRACK 3
/\ Tu
12
TRACK 5 . )

INTERACTIVE PANEL

FRONT VIEW SCALE: 1-1/2" = 1'-0"
ACRYLIC AND CAP RING REMOVED

260.01

=
N

1||

.

2"

48"

INTERACTIVE PANEL

SIDE VIEW SCALE: 1-1/2" = 1'-0"

INTERACTIVE PANEL

FRONT VIEW SCALE: 1-1/2" = 1'-0"

=R e

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

1x STAND-OFF

TRACK 4

TRACK 6

8-32x1" BUTTON-HEAD SOCKET CAP SCREW (McM-C #92949A199)

INTO 8-32x3" BRASS PRESS-FIT EXPANSION INSERT FOR PLASTICS
(McM-C #92395A114)

2.16x13" BUTTON-HEAD SOCKET
CAP SCREW (McM-C #92949A626)

SUPPORT LEG

3.16x0.994" TAPPING
INSERTS FOR SOFTWOOD
(McM-C #92105A430)

TRACK 3

MOUNTING BLOCK

BACK DISC
TRACK 1
I
NN TRACK 2
N
TRACK 4
N RING "A" (x8)
\

TRACK S
TRACK 6

RING "B-1"

10-24x0.361" TAPPING
INSERTS FOR SOFTWOOD
(McM-C #92105A006)

RING "A" (x6) MBS 3"x3" SECURITY
STANDOFF
(LBLS19-12)
N
FLATTENED SURFACE PROVIDES GRAPHIC ALIGNMENT NN
-
RING "B-2" | ~
| " REVERSIBLE
ﬁ INTERACTIVE PANEL ACRYLIC GRAPHIC . GRAPHIC
) N ~
@ 2" ool NTS g-32,3" FLAT HEAD MACHINE SCREW N~
CAP RING .

10-24x1" BUTTON-HEAD SOCKET CAP SCREW (McM-C #92949A247)

1 9.

1"

2-16x0.994" TAPPING
INSERTS FOR SOFTWOOD
(McM-C #92105A430)

R235"

O

RING "B' RING "A"
.
BACK DISC
CAP RING / S 4
/s , MOUNTING BLOCK suio> /7, MOUNTING BLOCK suiio>
}1" ACRYLIC GRAPHIC /" @ SIDE VIEW SCALE: 1'-0" = 1'-0" @ FRONT VIEW SCALE: 1'-0" = 1'-0"
5/4 POPLAR 5/4 POPLAR
TRACK /
1 M4 —— %" — —— D" — i L
. 1x STAND-OFF FOR REVERSIBLE GRAPHIC 3 P
= I
D O
Lt
8 _-—
%16
F O i
10"
—; 1 3!!
us %4
3"
. 3
%16 N *
| | UV
' '

SECTION C-C

SUPPORT LEG

SUPPORT LEG

Z260.01

Ca
N

SCALE 1-1/2" = 1'-0"

REAR VIEW
1"X1" AL TUBE - CAP TOP
1/4" AL FLAT TABS

SCALE: 1-1/2" = 1'-0" Z60.01 / SIDE VIEW SCALE: 1-1/2" = 1'-0"
1"X1" AL TUBE - CAP TOP

1/4" AL FLAT TABS

Ca
N

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

SEA FLOOR KIOSK

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/05/17 | FOR REVIEW

SLG | 09/22/17 | REV FRONT GRAPHIC

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE:

LOAD-IN DATE:

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

SEA FLOOR KIOSK
INTERACTIVE
DETAIL

SHEET IDENTIFICATION

Z60.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


A
TRACK 1
4|| ‘
| TRACK 2
+ KX XD 9 ‘>
f " —m= D TRACK 3
10 1. 8-32 THREADED INSERT —= 1
2 | 2? —— —— " ..
I 19" —
SECTION D'D /_\ TRACK 1 TRACK 4
TYPICAL 1 TRACK 5
SCALE 6" = 1'-0" 760.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE
DIAMOND POLISH ALL EDGES TRACK 6
_ 8-32 THREADED INSERTS
o o o
—L 1" F— ‘>) 1" |——
7 TRACK LAYOUT
154" - 760.02 / FRONT-VIEW  SCALE: 1-1/2" = 1'-0"
- 303" -
/2, TRACK 2
Z60.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE B
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS
o o d
- 1" - - 1" L
—= 165"
- 331" —
/3 TRACK 3
Z60.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
_ 1/2" ACRYLIC BASE
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS
od d o
1" » 1" -
16" —
- 321" —
/"4 TRACK 4
260.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2"* ACRYLIC BASE
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS B
9 9 q 1] q 9 9 1]
m——— L ’<¥ ‘>¢ 1" 47 ‘ 1 — ‘>¢ 1 |
- 14)" 1y =
3"
| 291" - - ZZZ —
/s, TRACK 5 6 , TRACK 6
760.02 / REAR VIEW SCALE: 6" = 1'-0" 760.02 ) REAR VIEW SCALE: 6" = 1'-0"

1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE

DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE

DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

} E Studeo, Tuc.

6900 N. CENTRAL PARK AVE

LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOD, IL 60712

PROJECT

SEA FLOOR KIOSK

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/05/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE:

LOAD-IN DATE:

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

SEA FLOOR KIOSK
BALL TRACK
DETAIL

SHEET IDENTIFICATION

/60.02



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


31_16x13" BUTTON-HEAD SOCKET
CAP SCREW (McM-C #92949A626)
- DRILL AND TAP DELRIN INSERTS
IN FRAME

1

SEA FLOOR KIOSK

260.00

£

NW ISOMETRIC VIEW NTS

» 4%" -

STANDOFF
(LBLS19-12) (x4)

MBS 2"x3" SECURITY

INSERT BALL HERE -

@2;6" WHITE PLASTIC |

Z60.00 / SIDE VIEW SCALE: 1-1/2" = 1'-0"

/"3, SEA FLOOR KIOSK
\Z6000/

I |
I
q 47"
\;@\
55"
\j_@// ]
@
@
{ !
; | !
@ @ 8§"
| o o o b7
| et 42" »)

| 18"
j ANGLE BRACKET (x10) 2
|t 6"
i * d | | r ‘ Studeo, Tnc.
6900 N. CENTRAL PARK AVE
8" M E E E E LINCOLNWOOD, IL. 60712
WWW.RAVENSWOODSTUDIO.COM
% | b ol CLIENT
CONSORTIUM FOR OCEAN
26" g LEADERSHIP
1201 NEW YORK AVE. NW #420
g WASHINGTON, DC 20005
U
; REVERSIBLE
GRAPHIC DISC
4
V1 %
' - , DESIGNER
i b1 L4 | BALLS COLLECT -
AT BOTTOM // o ¢ °
g ? e
= = = = i - DRILL AND TAP DELRIN INSERTS
3"
d / \ IN TUBE FOR 3"-16 HARDWARE CREATIVE
| | 3.16x2" BUTTON-HEAD SOCKET G900 N CENTRAL PARK AVE
I Il CAP SCREW (McM-C #92949A632) HNCOLNWOOD, I 6072
/s SEA FLOOR KIOSK
- 48" -— 760.00 / EXPLODED VIEW NTS
et 49" —
§ '5 %
SECTION E-E /2, SEA FLOOR KIOSK 5 20w
SCALE 1-1/2" = 1'-0" 760.00 / NE ISOMETRIC VIEW NTS O 1 C_)
FRONT ACRYLIC REMOVED FOR CLARITY < L
—1 L]
7 L — . :I (5 s
10-24x1" BUTTON-HEAD SOCKET o Z Q
-24x - 3n
CAP SCREW (MoM-C #92949A247) 4 EXTIRAMDF Q =5 C_I)
INTO 10-24 TAPPING INSERTS FOR 5" 3 1. O ) L
SOFTWOOD (McM-C #92105A006) ; P 2" = R4 D)
A ——— - // " > <E
‘ ) . y Sl al &E LL]
2n 8 4 . P h 3 O I_ U)
BN NN =
| 7 4 =
‘ %
" EXTIRA MDF y/% PRINTED
| I" ACRYLIC w/SECOND GRADIENT ISSUE
| FRAME AND FABRIC SURFACE PRINTED GRAPHIC APPLIED e T AT TDESCRIPTION
BY OTHERS GRAPHIC DETAIL B TO BACKING SLG | 09/01/17 | FOR REVIEW
SCALE 6" = 1'-0" SLG | 09/21/17 | REV FRONT GRAPHIC
SMR | 11/06/17 | APPROVED TO BUILD
|
| B
i
ACRYLIC TRACK FOR BALLS
4 As | N v MANAGEMENT
—
@ PROJECT NO. 4831
|1/|X STI\'?#E]_O;EgggRIBLE DI PROJ. MNGR: JON GULBRANDSON
84%" ou G S SC LEAD CARP: BEAU HALE
DRAWN BY: SLG
- SHIP DATE:
/ . it 2" AL SUPPORT LOAD-IN DATE:
k _— PLOT DATE:
1lle | ol L 47" 43" SCALE
n AS NOTED
ﬂ E— I )
il e _ ll SHEET TITLE
iy SEA FLOOR KIOSK
|l REMOVE BALL HERE - SPARE - OVERVIEW
) BALLS COLLECT AT BOTTOM |
D
2
| allli
i ® P ¢
u 1'x1" ALSUPPORTLEG —— |
' I 9 2 [ DR
A —~-— I" AL BASE PLATE /
- 48" = - " RADIUS EDGES
49" SHEET IDENTIFICATION
NOTES:
m SEA FLOOR KIOSK SECTION A-A e PAINT TREATMENT P1 COLOR - SEAL FOR EXTERIOR FINISH
760.00 FRONT VIEW SCALE: 1-1/2" = 1'-0" SCALE 1-1/2"=1'-0" o SAND/EASE ALL EDGES OF INTERACTIVE
e ALL VISIBLE HARDWARE STAINLESS STEEL

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


47"

——

5@"

SECTION B-B

SCALE 1-1/2" = 1'-0"

, =0 =, ‘

5 h

e = = F

b o -

- 48" -—
SECTION A-A

SCALE 1-1/2" = 1'-0"

FRONT

ASSEMBLE 1

60.02 / ORTHOGRAPHIC PROJECTION

@ SEA FLOOR KIOSK - INTERACTIVE

SCALE: 1 1/2" = 1'-0"

1"

N
o

(McM-C #92105A430) (x2)

1/2" x 1/2" STANDOFF CAP

1"
\ 3/8"-16 x 1" THREADED INSERTS r

2-16x13" BUTTON-HEAD SOCKET
CAP SCREW (McM-C #92949A626)

SUPPORT LEG
10-24 BUTTON HEAD BOLT
(McM-C #92949A247) (x6)
8-32x1" BUTTON-HEAD SOCKET CAP SCREW .
(McM-C #92949A199) (x17) T

BACK GRAPHIC
G-E6.01-09
3/8" SINTRA

8-32x33" THREADED INSERT FOR PLASTIC

51" (McM-C #92395A114) (x21) \ L. e
= = .. i
| b| TRACK 1 B T
TRACK 3 -
TRACK 5 :
55" TRACK 2
\D\ TRACK 4
i TRACK 6
RING B-2 \
3 "
! /o2 ", INTERACTIVE assewste 1 316 x 1" THREADED INSERT
° (McM-C #92105A430) (x4)
@ ISOMETRIC VIEW NOT TO SCALE
[ ()
. RING A (x2)
RING C-1 i
L H RING D (x2) \
10-24x0.361" THREADED INSERT
243" (McM-C #92105A006) (x6)
RING B-1
MOUNTING BLOCK (x2)
RING C-2
RING E
1x STANDOFF (x4)
8-32 THREADED INSERT
(McM-C #92105A002) (x4)
ACRYLIC GRAPHIC
G-EX6.01-09
10-24x0.361" THREADED INSERT
CAP RING (McM-C #92105A0086) (x8)
T 10-24x1" BUTTON-HEAD SOCKET CAP SCREW
(McM-C #92949A247) (x8)
1/2" x 1/2" STANDOFF 03 SEA FLOOR KI OSK = I NTERACTIVE ASSEMBLE 1

(MBS #LBLS19-12) (x4)

#8-32 x 3/4" FLAT HEAD MACHINE SCREW
(McM-C #92210A197) (x4)

REVERSIBLE OVERVIEW GRAPHIC
G-EX6.01-02 & G-EX6.01-03

60.02 / EXPLODED ISOMETRIC

NOT TO SCALE

3!!
12

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

SEA FLOOR KIOSK

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/05/17 | FOR REVIEW

SLG | 09/22/17 | REV FRONT GRAPHIC

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE:

LOAD-IN DATE:

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

SEA FLOOR KIOSK
INTERACTIVE
DETAIL

SHEET IDENTIFICATION

FRONT

RIGHT

60.02 / ORTHOGRAPHIC PROJECTION SCALE: 1-0" = 1'-0"

@ INTERACTIVE - MOUNTING BLOCK  assemsie 1

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

$+ F % ; J o o) 2" ¢
- 5 f
18,
- 531 -
FRONT
- 541"
RIGHT

or  INTERACTIVE - SUPPORT LEG

ASSEMBLE 1

60.02 / ORTHOGRAPHIC PROJECTION

SCALE: 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

Z60.01



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


A
TRACK 1
4" ‘
| TRACK 2
o L)
f ; —= D TRACK 3
1. 8-32 THREADED INSERT =1 F ]
2 —— " -
e 19" —
SECTION D'D m TRACK 1 TRACK 4
TYPICAL 1 TRACK 5
SCALE 6" = 1'-0" 760.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE
DIAMOND POLISH ALL EDGES TRACK 6
_ 8-32 THREADED INSERTS
o o o
—L 1" F— ‘>) 1" ——
/7 TRACK LAYOUT
154" - 760.02 / FRONT VIEW  SCALE: 1-1/2" = 1'-0"
- 303" -
/2, TRACK 2
Z60.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE B
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS
o o o
- 1" - - 1" L
] 162"
- 333" -
/3 TRACK 3
760.02 / REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
_ 1/2" ACRYLIC BASE
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS
o o o
J 1" - » 1" -
16" —
e 321" _—
/4 TRACK 4
760.02 ) REAR VIEW SCALE: 6" = 1'-0"
1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE
DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS B
q q q n q 9 9 n
4" T —J— 1 ’<— ‘>1 1 .
- 14)" 1y =
3"
| 291" - - ZZZ —
/s, TRACK 5 "6 | TRACK 6
760.02 / REAR VIEW SCALE: 6" = 1'-0" 760.02 | REAR VIEW SCALE: 6" = 1'-0"

1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE

DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

1/4" ACRYLIC SIDES AND ENDS
1/2" ACRYLIC BASE

DIAMOND POLISH ALL EDGES
8-32 THREADED INSERTS

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

SEA FLOOR KIOSK

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/05/17 | FOR REVIEW

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE

DRAWN BY: SLG

SHIP DATE:

LOAD-IN DATE:

PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

SEA FLOOR KIOSK
BALL TRACK
DETAIL

SHEET IDENTIFICATION

Z60.02



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM


@5" OBSCURE

BY STANDOFF CAPS
(x4)

- 17;1" VISIBLE & CUT — |

— 19" BLEED -— /

FRONT

@5" OBSCURE

BY STANDOFF CAPS
(x4)

@173" OBSCURE
OVERVIEW GRAPHIC

OBSCURE ACRYLIC TRACK

115"

43" VISIBLE

11 "
4% a5
43" VISIBLE
— 171" VISIBLE & CUT - - 4421" CuT
— 1921" BLEED - — 4621" BLEED
BACK
" u , OVERVIEW PANEL GRAPHIC BUILD 1 "2 INTERACTIVE ACRYLIC GRAPHIC BUILD 1
@ ORTHOGRAPHIC PROJECTION SCALE: 3" = 1'-0" @ ORTHOGRAPHIC PROJECTION SCALE: 3" = 1'-0"
GRAPHIC G-EX2.01-02 & G-EX2.01-03 GRAPHIC G-EX2.01-08
1/4" SINTRA 1/4" CLEAR ACRYLIC SECOND SURFACE PRINT

REVERSIBLE

S:\OPERATIONS\CLIENT FILES\CONSORTIUM FOR OCEAN LEADERSHIP\4831 (7206) DRILL DOWN\CAD\60 SEA FLOOR PERSPECTIVES\60-SEA FLOOR PERSPECTIVES.DWG

@17," OBSCURE
OVERVIEW GRAPHIC

z'l
445" CUT
464" BLEED

BUILD 1

60.03

ORTHOGRAPHIC PROJECTION

GRAPHIC G-EX2.01-09
3/8" SINTRA

o3 INTERACTIVE BACK GRAPHIC
NG

SCALE: 3" = 1'-0"

ALL INFORMATION © 2017 RAVENSWOOD STUDIO, INC.

‘1 E Studeo, Tuc.

6300 N. CENTRAL PARK AVE

LINCOLNWOOD, [L. 60712
WWW.RAVENSWOODSTUDIO.COM

CLIENT

CONSORTIUM FOR OCEAN
LEADERSHIP

1201 NEW YORK AVE. NW #420
WASHINGTON, DC 20005

DESIGNER

luci
CREATIVE

6900 N. CENTRAL PARK AVE.
LINCOLNWOOQD, IL 60712

PROJECT

SEA FLOOR KIOSK
JR KIOSK

POP-UP/DRILL DOWN
TRAVELING EXHIBIT

ISSUE

MARK | DATE | DESCRIPTION

SLG | 09/01/17 | FOR REVIEW

SLG | 09/21/17 | REV FRONT GRAPHIC

SMR | 11/03/17 | APPROVED TO BUILD

MANAGEMENT

PROJECT NO. 4831

PROJ. MNGR: JON GULBRANDSON

LEAD CARP: BEAU HALE
DRAWN BY: SLG
SHIP DATE:
LOAD-IN DATE:
PLOT DATE:

SCALE

AS NOTED

SHEET TITLE

60 MICRO

ORGANISMS KIOSK
GRAPHIC
TEMPLATES

SHEET IDENTIFICATION

ID 60.00
Z60.03



AutoCAD SHX Text
6900 N. CENTRAL PARK AVE LINCOLNWOOD, IL.  60712 WWW.RAVENSWOODSTUDIO.COM





Materials List (per frame)
Qty. Description
N % 13— — K 12 125" OD to 1.50" cope 90° T-butts
R 39" N I ///»\ 12 5/16"-18 x 2" Flat Head Screws
441/16"
R 340"
\J
Semi Curved Spreader Detail
(Scale 1:10)
R401/2"
\
48"
|
| O |
| | 6" 36" 6" Graphics Key
¥ ©D) i
[ o]
1 ‘ = n «
N 10 | . 2.00" 0.D. Aluminum
21/4" } . = 1.50" 0.D. Aluminum
} . =1.25" 0.D. Aluminum
NOTE: N = 5/16"-18 Threaded Insert
: C!ient to Tap/Drill al! connectiop holes of © . — 3/8" Through Hole
) client's attachment into Tectonics frames
= 1/4"-20 Threaded Insert
‘ = 6" Delrin Rod on Center of Dimension
6"L Delrin Rod - Typ. =5/16"-18 Eye Bolt
= = 1/4"-20 Eye Bolt
. N
NOTE: = 1.25" OD x 11/16"H Floor Spacer
Place 6" Delrin Rods inside the tubing -
on the center dimension of the RED -
dots; DO NOT drill into Delrin
S -3 _
= =%
\
6“ 21 n 7|l
Top View
Side View (Delrin Rod Dimensions) (Scale 1:10)
Perspective View (Scale 1:10)
Make 3 (three)
Welded Rail 6"
48"
6“ 36“ 6“
\ \
&
N M
= Nr J - L _EZ
- < B o -
- ) | = | |
o ) - -
o@\'\
ke 2
R 39" i R R
: 6 N 3 — ——— 3 | |
S BB
&
§ DO NOTSCALEDRAWINGS
& &
> 2 i
¢ $
O
§° 42" 3714 Jarvis Avenue, Skokie, IL 60076
D O: 847.983.4576 F: 847.983.4625
. L ) Ny TECTONICS.COM
Client’s Existing Structures 37/16
a e GENERAL NOTE: This drawing is the property of Tectonics Industries. It may
i | ] o g | - | not be duplicated or disclosed to any third party for any purpose except as
> = = . _ authorized in writing by Tectonics. Figured dimensions only are to be used
Welded Rail . *n = | | g (b ‘/_Q Semi CurYEd Spreader Typ' of 2 in preference to small scale drawings. All dimensions are to be verified on
< < f\lii @D = S Ty \ ] L -See Detail site before any work commences. Any errors or omissions are to be reported
© r N <+ ® -/ = = = — = — = = — — — to the designer. If in doubt ask.
PROJECT:
[ [
5 luci Creative
Welded Rail 40 172" = | I Ocean Leadership
| %}\ F i 48" Wide x 34" Deep x 84"Tall Custom Wave Shaped Kiosk
— % i
g3
< i i
: Q.
g > 6; 5/] 44" ASSEMBLY NAME:
S 6 Snap Tube
Welded Rail 70
z = DRAWING TYPE:
/730 [ : FRAME DETAIL
. 4, ) ‘ - WORK ORDER NO: TOTAL ASSEMBLIES:
3 . ) 27204 3
Welded Rail N . L =Q £ DESIGNED BY: DRAWN BY: SCALE:
= = - = - JNeer AS NOTED
N 'q- -— oN -—
= 3 . > APPROVALS:
© | n g © -
S E— =3 x‘ xxxxxxxxx - Qe - ‘ ‘ DESIGN: ENG: CHI PROD: CHI
- ESTIMAT'G: PM: JR SALES: BS
6" 21" 7" " " "
Client Supplied 1/2"Thick Base Plate 6 36 6 SEAL: DATE CREATED: 8/16/17
\ \ DATE ISSUED: 8/23/17
34"
PROJECT NO: N/A
INVENTORY NO: N/A
Side View Elevation View DWG NO: REV. NO:
(Scale 1:10) (Scale 1:10) 1A.00
SHEET: 10f3

CADFILE: C:\Tectonics_Projects/00000 - Chicago/27204 - OCEAN Leadership/Metal/27204 luci Ocean Leadership



Perspective View

Make 3 (three)

NOTE:
Client to Tap/Dirill all connection holes of
client's attachment into Tectonics frames

NOTE:
Place 6" Delrin Rods inside the tubing
on the center dimension of the RED
dots; DO NOT drill into Delrin

Ring to connect to half cylinder base via 5/16"-18 Threaded Inserts (inside the base)
-Screws will pass through the 3/8" thru holes in the ring.

Client’s Existing Structures —?_ iy 1

Client Supplied 1/2" Thick Base Plate

\

\

NOTE:
See Sheet 3 of 3 for Ring Sign & Half
Cylinder Base Details

48"
24"
GING) L L L))
~
, SND
0 E
3 NOTE:
Dimensions in Grey are for Client's
Reference ONLY

21
1/2"

Side View
(Scale 1:10)

48"

42"

it
(o]
R 24"
Top View
(Scale 1:10)
48"
ol U )
~
. ’f'?::‘\\*ts
// \
6"L Delrin Rod - Typ. — N
o o
w R a-r - 1---r-
+ |
R : : (/\1:
Ln | |
o |
0
(gl

141/2"

69 1/2"

Materials List (per frame)

Ring Sign
Qty. Description
6 1.25" 0D to 1.50" cope 90° T-butts
2 1.50" OD to 1.50" cope 90° T-butts
8 5/16"-18 x 2" Flat Head Screws

Half Cylinder Base

Qty. Description
2 1.25" 0D to 1.50" cope 90° T-butts
8 1.50" OD to 1.50" cope 90° T-butts
10 5/16"-18 x 2" Flat Head Screws

Graphics Key

. =2.00" O.D. Aluminum
. =1.50" O.D. Aluminum
. =1.25" O.D. Aluminum
=5/16"-18 Threaded Insert
. = 3/8" Through Hole
‘ = 1/4"-20 Threaded Insert
. = 6" Delrin Rod on Center of Dimension
=5/16"-18 Eye Bolt
= 1/4"-20 Eye Bolt
=1.25" 0D x 11/16"H Floor Spacer

DO NOTSCALE DRAWINGS

Tectonics

711/16" 2213/16" 31/4f 10" 41/4"

Elevation View
(Scale 1:10)

3714 Jarvis Avenue, Skokie, IL 680076
0: 847.983.4576 F: 847.983.4625

TECTONICS.COM

GENERAL NOTE: This drawing is the property of Tectonics Industries. It may
not be duplicated or disclosed to any third party for any purpose except as
authorized in writing by Tectonics. Figured dimensions only are to be used
in preference to small scale drawings. All dimensions are to be verified on
site before any work commences. Any errors or omissions are to be reported
to the designer. If in doubt ask.

PROJECT:

luci Creative

Ocean Leadership
48" Dia. x 12"Tall Closed Ring Sign w/ 48" Dia. x 84" Tall Half Circle

Column Base

ASSEMBLY NAME:
Snap Tube
DRAWING TYPE:
FRAME DETAIL
SO;K ZORODz NO: TOTAL ASSEMBLIES:
3
DESIGNED BY: DRAWN BY: SCALE:
JINeely AS NOTED
APPROVALS:
DESIGN: ENG: CHI PROD: CHI
ESTIMAT'G: PM: JR SALES: BS
SEAL: DATE CREATED: 8/16/17
DATE ISSUED: 8/23/17
PROJECT NO: N/A
INVENTORY NO: N/A
DWG NO: REV. NO:
2A.00
SHEET: 20f3

CADFILE: C:\Tectonics_Projects/00000 - Chicago/27204 - OCEAN Leadership/Metal/27204 luci Ocean Leadership



Perspective View
Make 3 (three)

Perspective View
Make 3 (three)

NOTE:
Place 6" Delrin Rods inside the tubing
on the center dimension of the RED
dots; DO NOT drill into Delrin

5 );\
T

50/]\/\4 "

85]?\6\\
)

. 1 8

o
c)\'\

) :
R 24"
14 3/16" f 14 3/16"
43 7/8"
Top View

(Scale 1:10)

$OD
(e (§

W9OL/SLS

Curved Weld Return

6" ‘ 36“ ‘ 6"

Top View - Top Rail
(Scale 1:15)

24"

R 190"

84"
91/51 08
Q

Side View
(Scale 1:15)

\> Dims pulled from Bottom Rail of Ring Sign

R 24"

6 371\6"

48"

1 2“

Front View
(Scale 1:10)

Curved Weld Return

= —
6" 36" 6"

Top View - Bottom Rail
(Scale 1:15)

48"
6|l 36" 6|l
4L ‘ 6"L Delrin Rod - Typ.
111/16"
i} B J T M 1] N ‘|[ T (Il ‘; & 2 _
o _ i o
N Q 371/16" §ae
~ Q
= - = ’T ;
3 i ’ |
O —
o
37 1/16"
151/2"
12 1/4"
21/4"
0 N ] R — £ - \K ' N~
37 1/16"
_ ©
o m
¢
3 &
ve) I = = X : N
~N = — o
[a] ~
\ -—
— 0
L o
o e ] B o
G S 0 O 1 [&

Elevation View
(Scale 1:15)

Materials List (per frame)

Ring Sign
Qty. Description
6 1.25" 0D to 1.50" cope 90° T-butts
2 1.50" OD to 1.50" cope 90° T-butts
8 5/16"-18 x 2" Flat Head Screws

Half Cylinder Base

Qty. Description
2 1.25" 0D to 1.50" cope 90° T-butts
8 1.50" OD to 1.50" cope 90° T-butts
10 5/16"-18 x 2" Flat Head Screws

Graphics Key

=2.00" O.D. Aluminum
. =1.50" O.D. Aluminum
[ -125"0D. Aluminum
=5/16"-18 Threaded Insert
' = 3/8" Through Hole
= 1/4"-20 Threaded Insert
= 5/16" Through Hole
=5/16"-18 Eye Bolt
= 1/4"-20 Eye Bolt
=1.25" 0D x 11/16"H Floor Spacer

DO NOTSCALE DRAWINGS

Tectonics

3714 Jarvis Avenue, Skokie, IL 680076
0: 847.983.4576 F: 847.983.4625
TECTONICS.COM

GENERAL NOTE: This drawing is the property of Tectonics Industries. It may
not be duplicated or disclosed to any third party for any purpose except as
authorized in writing by Tectonics. Figured dimensions only are to be used
in preference to small scale drawings. All dimensions are to be verified on
site before any work commences. Any errors or omissions are to be reported
to the designer. If in doubt ask.

PROJECT:

luci Creative

Ocean Leadership

48" Dia. x 12"Tall Closed Ring Sign w/ 48" Dia. x 84" Tall Half Circle
Column Base

ASSEMBLY NAME:

Snap Tube

DRAWING TYPE:
FRAME DETAIL

WORK ORDER NO: TOTAL ASSEMBLIES:
DESIGNED BY: DRAWN BY: SCALE:
JINeely AS NOTED
APPROVALS:
DESIGN: ENG: CHI PROD: CHI
ESTIMAT'G: PM: JR SALES: BS
SEAL: DATE CREATED: 8/16/17
DATE ISSUED: 8/23/17
PROJECT NO: N/A
INVENTORY NO: N/A
DWG NO: REV.NO:
2B.00
SHEET: 30f3

CADFILE: C:\Tectonics_Projects/00000 - Chicago/27204 - OCEAN Leadership/Metal/27204 luci Ocean Leadership






